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Y=245 (dx=-5.4e-01, do=1.9e-01)

f=6, X=3996.3

Y=491 (dx=-3.4e-01, do=1.8e-01)

pfsArm
= (x=4002.01, 0=1.19)

calExp
= (x=4001.48, 0=1.38)

wm— Residual*s
= Trace

pfsArm
| ™ (x=3999.37, 0=121)

calExp
= (x=3999.03, 0=1.39)
m— Residual*s

== Trace

Y=1228 (dx=-1.5e-01, do=2.1e-02)

Y=1473 (dx=-1.1e-01, do=-1.9e-02)

e Residual*5
= Trace

I pfsArm -1 I pfsArm

T | = (x=3994.61,0=1.21) = (x=3993.74, 0=121)
1 calExp calExp

— (x=3994.46, 0=1.23) = (x=3993.62, 0=1.19)

e Residual*5
= Trace

Y=2210 (dx=-5.0e-02, do=2.2e-02)

Y=2456 (dx=-7.1e-02, do=-3.9e-03)

T pfsArm b pfsArm
| ™ (x=3992.64,0=1.18) | ™ (x=3992.74,0=1.19)
1 calExp 1 calExp

- (x=3992.59, 0=1.21) = (x=3992.67, 0=1.19)

e Residual*5
w— Trace

e Residual*5
= Trace

Y=3193 (dx=-7.2e-02, do=8.6e-03)

Y=3439 (dx=-1.6e-01, do=6.1e-04)

pfsArm
1 = (x=3994.99, 0=1.15)

calExp
= (x=3994.92, 0=1.16)
- = Residual*5
- Trace

pfsArm
| ™ (x=3996.49, 0=1.16)

calExp

(x=3996.33, 0=1.16)
e Residual*5
= Trace

3980 3990 4000

4010 3980 3990 4000 4010

Y=736 (dx=-2.5e-01, do=7.8e-02)

pfsArm
= (x=3997.36, 0=1.19)

calExp
= (x=3997.10, 0=127)

= Residual*5
== Trace

TR e

- == Trace

Y=1719 (dx=-9.4e-02, do=2.2€-03)

I fsArm
1 = (x=3993.16, 0=1.16)
1 calExp

= (x=3993.07, 0=1.16)

e Residual*5
= Trace

- e Residual*5

1

Y=2702 (dx=-3.8e-02, do=1.7e-02)
I pfsArm
1 = (x=3993.16, 0=1.15)
I r— (c:f;g%.la, 0=1.16)

e Residual*s

- e Residual*5

Y=3684 (dx=-1.3e-01, do=5.8e-03)

pfsArm
| ™ (x=3998.46, 0=1.16)

calExp
= (x=3998.33, 0=1.17)
e Residual*s
= Trace

3990 4000 4010

Y=982 (dx=-1.8e-01, do=4.4e-02)
T

pfsArm
| ™ (x=399576, 0=123)

1 calExp
= (x=3995.59, 0=1.27)

e Residual*5

Y=1965 (dx=-9.3e-02, do=2.0e-02)

pfsArm
| = (x=399275,0=121)

calExp
— (x=3992.66, 0=1.23)

Y=2947 (dx=-3.0e-02, do=-3.2e-02)

pfsArm

| = (x=3993.85, 0=1.19)
1 calExp
= (x=3993.82, 0=1.16)

== Trace

1
Y=3930 (dx=-6.7e-02, do=7.0e-02)
T pfsArm
1 = (x=4000.99, 0=1.15)
| — (cxa‘:E:goo.gz, 0=1.22)

e Residual*5
== Trace

3990 4000 4010
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Y=245 (dx=1.4e-01, do=-5.8e-02)

Y=491 (dx=3.3e-02, do=6.4e-02)

f=7, X=3990.0

T pfsArm
(x=3994.89, 0=1.79)
calExp
= (x=3995.03, 0=1.73)
wm— Residual*s
= Trace

[

| i

- (x 3992 88, 0=1.49)

- (x=3992492, 0=1.56)
= Residual*5
= Trace

Eas

Y=736 (dx=2.4e-01, do=-3.3e-02)

prsA
_(x

— lx:

e Residual*5
= Trace

1 _|___|. -

4l

3990 84, 0=1.56)

3991.07, 0=1.53)

Y=982 (dx=1.8e-01, do=-9.6e-02)

pfsArm
| = (x=3988.12, 0=1.55)

calExp
= (x=3988.15, 0=1.42)
== Residual*5

== Trace

Y=1473 (dx=8.3e-02, do=-1.6e-01)

Y=1719 (dx=8.0e-02, do=-4.6e-02)

T pfsArm
= (x=3988.98, 0=1.69)
calExp
_(x= 3989 16, 0=1.59)
— Residual*s
== Trace

I

Ik

pfsArm

= (x=3986.43, 0=1.66)
calExp

- (x=3986.51, 0=1.61)

== Residual*s

- Trace

o

Y=1965 (dx=1.7e-01, do=-1.2e-01)

Y=2210 (dx=9.5e-02, do=-9.7¢-02) Y=
T T
| F:igrs;nas.19, 0=1.50) T A 1 - Fg\sr;“sevzs, 0=1.51)
1 calExp calEx

—(x=3986.29, 0=1.41)
= Residual*5
w1 Trace

Y=2702 (dx=-9.1e-02, do=3.1e-02)

I pfsArm
| = (x=3986.22,0=153)
1 calExp

= (x=3986.39, 0=1.42)

e Residual*5
= Trace

L

1

P
= (x=3986.35, 0=1.39) -1

Y=3193 dx—-2 Te- 02 do=2.6e- 02)

pfsArm
= (x=3986.53, 0=1.58)

calExp
= (x=3986.44, 0=1.61)

= Residual*5

Y=2947 (dx=4.5e-02, do=-2.3e-02)

F

pfsArm
= (x=3988.53, 0=1.42)

calExp
- (x= 3988 50, 0=1.44)

I | == Residual*s

i

LLIJL

pfsArm
| = x=3987.42,0=1.46)

calExp
(x=3987.47, 0=1.44)

e Residual*5

== Trace

il

pfsArm 7 L
= (x=3990.15, 0=1.41)

calExp
= (x=3990.12, 0=1.40)
e Residual*5
== Trace

3990 4000

3980

3990

pfsArm
— (x=3992.13, 0=1.39)

calExp
= (x=3992.08, 0=1.34)
== Residual*s
w=  Trace

Y=3930 (dx=6.9e-02, do=-6.6e-03)

4000

3980

3990

pfsArm
| = (x=3994.47, 0=1.45)

calExp
= (x=3994.54, 0=1.44)
m— Residual*s
- Trace
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3990 4000
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f=8, X=3983.8

calexp Residual Chi
T 3000 s
4000 . =
- 300 =
4
3500 - 2500 1 =
- 200 =
3000 - | =
2000 =12
- 100 _ =
% =
2500 - =
= 1500 -0 =
E; === -0
< 2000 - B -=
= =
= ; —;
- —100 == - =
1500 - 1000 ==
- —2
1000 - - —200
500 =
500
—-300 —4
0 0500 . . —400 — . -6
3980 3990 3980 3990 3980 3990

X (pix)

Shift measure

Chi+ - Chi-

Chi at each row

4000

3500

3000

2500

2000

1500

1000

500



f=8, X=3983.8

Y=245 (dx=2.6e-01, do=-5.1e-02) Y=491 (dx=3.4e-01, do=-7.3e-02) Y=736 (dx=2.1e-01, do=-4.8e-02) Y=982 (dx=-1.4e-01, do=-1.3e-01)
T T pfsArm - T pfsArm T pfsArm pfsArm
| ™ (x=398822,0=1.93) | ™ (x=3984.60, 0=1.97) | ™ (x=3982.62,0=1.98) = (x=3982.60, 0=1.80)
1 calExp 1 calExp 1 calExp 7 calExp
= (x=3988.48, 0=1.88) = (x=3984.94, 0=1.90) = (x=3982.83, 0=1.93) — (x=3982.46, 0=1.67)
I Residuars I residuars I Residuars m— Residual*s
1 = Trace i I = Tace - I = Tace - Trace
| | | —
| |
J et , - 1 =4
1
T T T T T T T T | T
Y=1473 (dx=-6.7e-02, do=-8.3e-02) Y=1719 (dx=2.9e-02, do=-2.2e-02) Y=1965 (dx=-4.5e-02, do=-9.3e-02)
pfsArm I pfsArm 1 T - pfsArm b |
= (x=3981.60, 0=1.76) = (x=3980.75, 0=1.72) = (x=3979.79, 0=1.69)
- calExp calExp calExp
= (x=3981.49, 0=1.63) - = (x=3980.68, 0=1.64) — = (x=3979.74, 0=1.60)
m— Residual*5 m—Residual*5 :’fs_"*;gg 3, od1.00) 1 — Residual*s
- Trace - Trace (’;I‘EX . - Trace
— _ L I (x=39p79,56, 0=1.88) L
m— Residual*s T
= Trace : '|_
T T T T 0 T T T T T T T T
Y=2210 (dx=-1.3e-02, do=-8.1e-02) Y=2456 (dx=-5.4e-02, do=-8.4e-02) Y=2702 (dx=1.1e-01, do=-3.8e-02) Y=2947 (dx=6.2e-02, do=-6.2e-02)
L I pfsArm pfsArm I pfsArm pfsArm
. 1 = (x=3979.88, 0=1.60) = (x=3979.94, 0=1.58) | ™ (x=3979.75,0=183) = (x=3980.97, 0=1.56)
calExp - calExp - calExp _ calExp
= (x=3979.87, 0=151) = (x=3979.88, 0=1.50) = (x=3979.86, 0=1.79) = (x=3981.03, 0=1.50)
= Residual*5 = Residual*5 = Residual*5 = Residual*5
- Trace = Trace - Trace - Trace
i - __"1|_ r i - - i —-L ] %J H-TI:I:I
T |I T T T T = T T T T T T
Y=3193 (dx=2.0e-02, do=-3.4e-02) Y=3439 (dx=-1.2e-01, do=-7.3e-02) Y=3684 (dx=-1.4e-01, do=-4.1e-02) Y=3930 (dx=-2.6e-01, do=8.8e-02)
pfsArm T pfsArm T pfsArm T
= (x=3981.99, 0=1.56) 1 = (x=3984.92, 0=1.94) 1 = (x=3988.13, 0=1.46) 1
calExp | . calExp 4 calExp
=1 ™ (x=3982.01, 0=1.53) e = (x=3984.78, 0=1.90) = (x=3987.87, 0=1.55)
w— Residual*s — PTSAIM w—Residual*s e Residual*s
- Trace (x=398388, =140 = Trace = Trace
calExp
. — (x=3983.77, 0=1.32) . .
m— Residual*5
= Trace
|- ]JJ":I H; ] "ﬂ'i' =l - - ﬁc'__ il
= T
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Y=245 (dx=-5.6e-01, do=1.2e-01)

f=9, X=3977.5

Y=491 (dx=-4.1e-01, do=9.5e-02)

Y=736 (dx=-2.8e-01, do=7.5e-02)

pfsArm
= (x=3983.21, 0=1.15)

calExp
= (x=3982.65, 0=1.27)
— Residual*s

= Trace

pfsArm
| ™ (x=3980.62, 0=1.16)

calExp
= (x=3980.22, 0=1.26)
m— Residual*s

== Trace

T pfsArm
| ™ (x=3978.63, 0=1.16)
1 calExp

= (x=3978.35, 0=1.24)
— Residual*s
== Trace

Y=1228 (dx=-1.7e-01, do=2.9e-02)

Y=1473 (dx=-8.8e-02, do=1.7e-02)

Y=1719 (dx=-8.7e-02, do=2.9e-02)

I pfsArm I pfsArm
| = (x=3975.94,0=1.15) 1 = (x=3975.12, 0=1.14)
1 calExp 1 calExp
= (x=3975.77, 0=1.18) = (x=3975.04, 0=1.16)
. = Residual*5 = Residual*5
= Trace = Trace
- — I-

I fsArm
| ™ (x=3974.48,0=114)
1 calExp

= (x=3974.40, 0=1.17)

e Residual*5
= Trace

Y=2210 (dx=-4.5e-02, do=1.7e-02)

Y=2456 (dx=-7.2e-02, do=1.5e-02)

Y=2702 (dx=-7.0e-02, do=7.4e-03)

e Residual*5
w— Trace

i I pfsArm I pfsArm
| = x=3973.97,0=1.14) 1 = (x=3974.11,0=1.13)

1 calExp 1 calExp
= (x=3973.92, 0=1.15) = (x=3974.04, 0=1.15)

e Residual*5
= Trace

pfsArm

| ™ (x=3974.46,0=1.13)
1 calExp

= (x=3974.39, 0=1.14)

e Residual*s
== Trace

Y=3193 (dx=-8.4e-02, do=9.4e-03)

Y=3439 (dx=-1.3e-01, do=1.2e-02)

Y=3684 (dx=-7.9e-02, do=3.1e-02)

T pfsArm
| = (x=3976.25,0=1.14)

| calExp

(x=3976.17, 0=1.15)
- e Residual*5
| Trace

pfsArm
| ™ (x=3977.68, 0=1.14)

calExp

(x=3977.55, 0=1.15)
e Residual*5
= Trace

pfsArm
| ™ (x=3979.60, 0=1.14)

| calExp

= (x=3979.52, 0=1.17)
e Residual*s

= Trace

3960 3970 3980 3990

3970 3980 3990

3970 3980 3990

Y=982 (dx=-2.1e-01, do=6.5e-02)

pfsArm
1 = (x=3977.13, 0=1.15)

1 calExp
- (x=3976.92, 0=1.22)

e Residual*5

Y=1965 (dx=-1.0e-01, do=3.2e-02)

I pfsArm
1 = (x=3974.14, 0=1.13)
1 calExp

= (x=3974.04, 0=1.17)

e Residual*5
= Trace

Y=2947 (dx=-2.9e-02, do=-1.5e-02)
T

pfsArm
1 = (x=3975.20, 0=1.14)
1 calExp

(x=3975.17, 0=1.12)
e Residual*5
== Trace

_iEl

Y=3930 (dx=-8.0e-02, do=7.6e-02)

pfsArm
= (x=3982.13, 0=1.14)

——{ (D |

calExp

(x=3982.05, 0=1.21)
e Residual*5
== Trace
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Y=245 (dx=1.6e+00, do=-6.0e-01)

f=10, X=3971.4

Y=491 (dx=1.2e+00, do=-3.9e-01)

pfsArm T
= (x=3977.71, 0=1.83)
calExp
- (x=3979.29, 0=1.23)
7| == Residual*s
w | Trace

pfsArm

= (x=3974.77, 0=1.97)
calExp

= (x=3975.99, 0=1.58)

e Residual*5

1
—I — —— —
a1
1

Y=736 (dx=9.3e-01, do=-3.0e-01)

T pfsArm
= (x=3972.81, 0=2.03) |
calExp 1
= (x=3973.74, 0=1.73)
— Residual*s 1
= Trace l
- .IIL -

Y=1228 (dx=6.4e-01, do=-2.7e-01)

Y=1473 (dx=1.2e-01, do=2.1e-02)

Y=1719 (dx—-9 5e-02, do=2.0e- 01)

pfsArm
= (x=3969.65, 0=2.11)
calExp

= (x=3970.29, 0=1.85)
= Residual*5
== Trace

]

pfsArm
= (x=3968.97, 0=1.89)

calExp
— (x=3969.09, 0=1.91)
= Residual*5

- Trace

11

Y=2210 (dx=5.6e-01, do=-2.0e-01)

6 (dx=2.0e-01, do=3.4e-02)

i Trace

pfsArm
= (x=3969.50, 0=1.63)
calExp
— (x=3969.41, 0=1.83)
= Residual*5

3

!
ﬁ,

T o I pfsArm
I | |™ (x=3967.96, 0=1.91)
| 1 calExp
| - | = (x=3968.16, 0=1.95)
pfsArm m— Residual*5
1 = (x=3967.44, 0=2.19) ]
- Trace
calExp
= (x=3968.00, 0=1.99)
= Residual*5
1 |= Trace
A=l ']P[F'f"H L1 -
1

Y=2702 (dx=-5.2e-01, do=7.7e-01)

=-1.6e-01, do=3.4e-01)

pfsArm
= (x=3969.95, 0=1.05)

calExp
= (x=3969.43, 0=1.82)
me= Residual*5

= Trace

N

pfsArm
— (x=3971.71, 0=1.42)

calExp

(x=3971.55, 0=1.77)
me= Residual*5
w— Trace

e
T
|
1
1
|
|

1

= (x=3971.89, 0=1.98)
calExp

= (x=3972.09, 0=1.77)

= Residual*5

== Trace

Y=3439 (dx=2.0e-01, do=-2.2e-01)

Y=3684 tdx=-2.2e-02, do=6.2e- 02)

3960 3970 3980

e

3960 3970 3980

il

pfsArm
= (x=3974.11, 0=1.79)

calExp
= (x=3974.09, 0=1.85)
m— Residual*5

3960 3970 3980

Y=982 (dx=2.0e-01, do=7.8e-02)

pfsArm

= (x=3970.99, 0=1.86)

calExp
= (x=3971.19, 0=1.94)
= Residual*5

== Trace

____k1:

Y=1965 (dx=2.4e-01, do=-3.8e-02)

-

pfsArm
= (x=3967.98, 0=1.92)

calExp
(x=3968.22, 0=1.88)

e Residual*5

== Trace

_t_fL-

Y=2947 (dx=-7.4e-02, do=6.0e-02)

pfsArm
= (x=3970.55, 0=1.68)

calExj
= (x=3970.47,0=1.74)

Al

= Trace
Y=3930 (dx=-2.2e- 01 do=3.4e- 01)

pfsArm
= (x=3976.08, 0=1.84)

calExp
= (x=3975.86, 0=2.18)
e Residual*5
= Trace
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f=11, X=3965.0

Y=245 (dx=1.3e-01, do=3.3e-01) Y=491 (dx=-4.3e-01, do=-1.4e-01) Y=736 (dx=-5.0e-01, do=5.2e-02) Y=982 (dx=3.4e-02, do=2.2e-01)
J ” | | H | i I AH | | | i
i . 1 = (x=3964.39, 0=1.46)
I - (cxaf;;m.u,a=1.69)
— lx 3970 52, 0=1.38) ] ™ (x 3968 69, 0=1.63) 1 [ — ?:129%6.70,0:159) i : .';Zﬂ:ual*s
T T (x=3><970,65, 0=1.72) - (x=3968,25, 0=1.49) T IH - (c:f;gpﬁﬁlg,v:l,GS)
—Residual*s ] — Residual*s 1 LU= residuals
= Trace = Trace 1 = Trace
J T
T T T r“‘ 1
Y=1228 (dx=-5.6e-01, do=3.6e-02) Y=1473 dx 1.2e- 02 do=1.0e- Ol) Y=1719 (dx—-l le- 02 do=1.4e- 01 Y=1965 (dx—-l 8e-02, do=1.5e- 01)
T 1 e T T T
| ?;5:3?53.83, 0=1.58) - | (x=3962v41, 0=1.44) - [ 1 — ?:sgrg‘az 11, 0=1.29) L | (;SA3961 44, 0=1.44)
i = (C:I=E3X§63,za, 0=1.62) ] I — (C:I=E3X§62,43, 0=1.54) | — (cffzxgsz‘w,o:l,u) 1 — (?3&142,0:1‘59)
= Residual*5 == Residual*5 = Residual*5 = Residual*5
= Trace = Trace = Trace N - Trace
o ] — - ] E .= ] - - E - —— - o - -
T = T T T T T T T T
Y=2210 (dx=-3.9e-01, do=7.2e-02) Y=2456 dx—-5 6e-02, do= -1.5e- 01) Y=2702 (dx=9.5e-02, do=3.2e-01) Y=2947 (dx=-1.8e-01, do=1.5e-01)
L T pfsArm = T pfsArm T pfsArm E T pfsArm
- | = (x=396175,0=154) | = (x=3961.450=1.38) 1 = (x=3961.91, 0=1.12) I = (x=3962.47, 0=1.44)
l — (Cffaxgal,w, 0=1.61) l — (c:|=E3x9pal,39, 0=1.53) ] T (c:f;gsz.ol,ud,u) ] l — (c:f;gez.za, 0=1.59)
= Residual*5 == Residual*5 = Residual*5 = Residual*5
- Trace = Trace = Trace = Trace
_ F | | | ﬁ
H T T T T T T a T T T T |ﬂ
=3193 (dx=-1.4e-01, do=8.0e-02) Y=3439 (dx=-2.5e-01, do=-6.4e-02) Y=3684 (dx=-1.3e-01, do=1.0e-01) Y=3930 (dx=-7.2e-02, do=3.4e-01)
:I I: T pfsArm [ T pfsarm T prsArm i = T prsArm
| | = (x=3963.50, 0=1.45) i = (x=3965.29, 0=1.35) 1 = (x=3967.13, 0=127) = (x=3969.39, 0=1.32)
1 l — f:I:E;staias, 0=1.53) = ?:I:E;ges,om 0=1.29) -1 = (cflz?gpm.oo,u:l.w) 1 -_— (cxa‘:E;gpse.sz, 0=1.67)
m— Residual*s m—Residual*s m— Residual*s m— Residual*s
= Trace = Trace = Trace | = Trace
! 1
T T T T T T T T T T T

3950 3960 3970 3950 3960 3970 3980 3960 3970 3980 3960 3970 3980




f=12, X=3959.0

calexp Residual Chi Shift measure
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Y=245 (dx=1.2e-01, do=1.5e-01)

f=12, X=3959.0

Y=491 (dx=-2.7e-01, do=8.1e-02)

e Residual*5

L T pfsArm T pfsArm
= (x=3964.43, 0=1.28) 1 = (x=3961.99, 0=123)

calExp — 1 calExp
= (x=3964.56, 0=1.42) - (x=3961.72, 0=1.31)

e Residual*5
== Trace

Y=1228 (dx=-1.9e-01, do=1.8e-01) Y=1473 (dx=-4.0e-02, do=6.8e-03)

I pfsArm pfsArm
= (x=3957.33, 0=1.24) | = (x=3956.47,0=1.25)

calExp calExp
m—(x=3957.14, 0=1.42) m—(x=3956.43, 0=1.26)

w— Residual*s - e Residual*s

-— Trace

Y=2210 (dx=-5.4e-02, do=1.1e-01) Y=2456 (dx=-8.8e-02, do=7.3e-02)

pfsArm
| =™ (x=395538,0=121)

calExp
= (x=3955.32, 0=1.32)

e Residual*5

T pfsArm
. | =™ (x=3955.45,0=1.24)
1 calExp
m—(x=3955.36, 0=1.31)
== Residual*5
- Trace
[ R

Y=3193 (dx=-3.1e-02, do=1.5e-02)

Y=3439 (dx=-1.2e-01, do=-2.2e-02)

pfsArm

| ™ (x=3957.53, 0=125)
calExp

= (x=3957.50, 0=1.27)

e Residual*5
| Trace

pfsArm
— (x=3959.03, 0=1.19)

calExp
= (x=3958.92, 0=1.16)
= Residual*5
- Trace

iy

3950 3960 3970

3950 3960 3970

Y=736 (dx=-2.3e-01, do=1.9e-01)

L T pfsArm
1 = (x=3960.02, 0=124)

calExp
= (x=3959.79, 0=1.43)
m— Residual*s
== Trace

Y=982 (dx=-2.6e-01, do=1.2e-01)

Y=1719 (dx=-1.0e-01, do=7.0e-02)

pfsArm
= (x=3958.44, 0=127)

calExp
= (x=3958.18, 0=1.39)

e Residual*5

fsArm
= (x=3955.94, 0=121)

calExp
= (x=3955.84, 0=1.28)
= Residual*5

== Trace

Y=2702 (dx=-1.2e-01, do=2.8e-02)

pfsArm
= (x=3955.49, 0=1.25)
calExp
= (x=3955.48, 0=1.25)
e Residual*5
= Trace

B I pfsArm
| ™ (x=395572,0=135)
1 calExp
1 = (x=3955.60, 0=1.38)

e Residual*s
== Trace

Y=3684 (dx=-1.5e-01, do=3.7e-02)

pfsArm
= (x=3956.50, 0=1.25)

calExp
—(x=3956.50, 0=1.27)
e Residual*5

- Trace

T pfsArm
1 = (x=3960.92, 0=1.19)

calExp
= (x=3960.77, 0=1.23)
e Residual*s
= Trace

Y=3930 (dx=4.0e-02, do=1.4e-01)

pfsArm
= (x=3963.32, 0=1.20)

calExp
= (x=3963.36, 0=1.34)
m—Residual*s
- Trace

3950 3960 3970

J_:J=ﬂ:_

3950 3960 3970




f=14, X=3946.4

calexp Residual Chi Shift measure
[t 700 = 6
4000 . . = . . 4000
4 e
- 600 i =] .
3500 . 1= g#/fe = . 3500
== =
- 500 B =F
3000 . . = 5 . 3000
2500 00 & ZI= -5 5= =& - 2500
% = 0 ===
e = = —w -0
< 2000 300 1 1= o= . 2000
L 25 S
1500 1 T == 1 1500
200 = Si=-= ,
| = S -
_ - —>50 = — i
1000 B St = 1000
100 :
500 T _75 T = = 4 T . 500
===
0 Q100 11— : ~100 1— : —6 : : b 0
3940 3950 3940 3950 3940 3950 -5 0 5 -1 0 1

X (pix) Chi+ - Chi- Chi at each row



Y=245 (dx=-4.6e-01, do=-3.2e-02)

f=14, X=3946.4

Y=491 (dx=-3.2e-01, do=1.3e-01)

T T pfsArm

= (x=3951.90, 0=1.20)
calExp

= (x=3951.44, 0=1.17)

m— Residual*s

== Trace

u

pfsArm
| ™ (x=3949.43,0=1.18)

1 calExp
= (x=3949.11, 0=1.32)

e Residual*5

Y=1228 (dx=-2.3e-01, do=-7.2e-03)

Y=1473 (dx=-1.3e-01, do=2.5e-02)

e Residual*5
= Trace

. I pfsArm pfsArm
| = x=3944.87,0=1.18) = (x=3944.08, 0=1.17)

1 calExp calExp
— (x=3944.64, 0=1.17) = (x=3943.95, 0=1.20)

e Residual*5
= Trace

Y=2210 (dx=-5.0e-02, do=-8.3e-03)

Y=2456 (dx=-5.8e-02, do=9.7e-03)

e Residual*5
by == Trace

I pfsArm I pfsArm
| =™ (x=3942.92,0=1.16) 1 = (x=3943.06, 0=1.16)
1 calExp 1 calExp

. m—(x=3942.87, 0=1.15) m—(x=3943.00, 0=1.17)

e Residual*5
= Trace

Y=3193 (dx=-1.2e-01, do=-2.1e-03)

Y=3439 (dx=-1.4e-01, do=9.2e-03)

T T pfsArm
1 = (x=3945.11, 0=1.15)
calExp

= (x=3944.99, 0=1.15)

e Residual*5
| Trace

pfsArm
| ™ (x=3946.47,0=1.15)

calExp
= (x=3946.34, 0=1.16)
= Residual*5
- Trace

3930 3940 3950

3960 3930 3940 3950 3960

Y=736 (dx=-2.6e-01, do=3.8e-02)

pfsArm
| ™ (x=3947.49,0=118)
1 calExp

— (x=3947.22, 0=122)
m— Residual*s
== Trace

Y=1719 (dx=-5.2e-02, do=1.0e-03)

I fsArm
| ™ (x=3943.45,0=1.16)
1 calExp

= (x=3943.40, 0=1.16)

e Residual*5
= Trace

Y=2702 (dx=-5.2e-03, do=2.0e-03)

I pfsArm
1 m—(x=3943.39, 0=1.15)
1 calExp

= (x=3943.39, 0=1.15)

e Residual*s
== Trace

Y=3684 (dx=-8.4e-02, do=3.5e-02)

T pfsArm
| ™ (x=3948.33,0=1.15)

calExp
= (x=3948.24, 0=1.19)
= Residual*5
- Trace

3940 3950 3960

Y=982 (dx=-2.0e-01, do=6.3e-02)

pfsArm
1 = (x=3946.04, 0=1.18)

. 1 calExp
= (x=3945.85, 0=1.24)

e Residual*5
== Trace

Y=1965 (dx=-7.1e-02, do=3.8e-02)

I pfsArm

. 1 = (x=3943.11, 0=1.16)
1 calExp

= (x=3943.04, 0=1.20)

e Residual*5
= Trace

Y=2947 (dx=-3.6e-02, do=-1.3e-02)

-1 I pfsArm
1 = (x=3944.10, 0=1.15)
1 calExp

= (x=3944.06, 0=1.14)
e Residual*5
- Trace

Y=3930 (dx=-5.5e-02, do=4.8e-02)

pfsArm
| ™ (x=3950.71, 0=1.15)

calExp

(x=3950.66, 0=1.20)
e Residual*5
== Trace

3940 3950 3960
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Y=245 (dx=-5.4e-01, do=2.0e-01)

f=40, X=3784.6

Y=491 (dx=-3.2e-01, do=6.8e-02)

pfsArm
= (x=3789.66, 0=1.14)

calExp
= (x=3789.12, 0=1.34)

e Residual*s
= Trace

pfsArm
| ™ (x=3787.52,0=113)
calExp
= (x=3787.20, 0=1.20)
= Residual*5
== Trace

Y=736 (dx=-2.6e-01, do=7.6e-02)

Y=1228 (dx=-1.2e-01, do=1.7e-02)

Y=1473 (dx=-9.4e-02, do=2.2e-02)

T pfsArm
| ™ x=378584,0=114)

1 calExp
= (x=3785.58, 0=121)

= Residual*5
== Trace

pfsArm
| ™ (x=3783.56,0=113)

calExp
= (x=3783.44, 0=1.15)
= Residual*5

= Trace

pfsArm
| =™ (x=3782.81,0=1.13)

calExp
= (x=3782.71, 0=1.15)
= Residual*5

- = Trace

Y=1719 (dx=-4.8e-02, do=2.8e-02)

Y=2210 (dx=8.6e-03, do=2.5e-02)

Y=2456 (dx=-8.3e-04, do=1.2e-02)

I pfsArm
1 = (x=3782.27, 0=1.11)
1 calExp

- (x=3782.22, 0=1.14)

e Residual*5
= Trace

e Residual*5
w— Trace

T pfsArm pfsArm

| ™ (x=378170,0=112) | ™ x=378172,0=112)

1 calExp 1 calExp
m—(x=3781.71, 0=1.14) m—(x=3781.72, 0=1.13)

e Residual*5
= Trace

Y=2702 (dx=-3.3e-02, do=2.2e-02)

I pfsArm
| ™ (x=3781.96,0=1.12)
1 calExp

= (x=3781.93, 0=1.14)

e Residual*s
== Trace

e Residual*5
-1 | Trace

Y=3193 (dx=-2.3e-02, do=-1.2e-02) Y=3439 (dx=-9.7e-02, do=8.7e-03)
T pfsArm pfsArm
| = (x=378327,0=111) | = (x=3784.39, 0=1.11)
I r— ;:EI:E;7’383.25, 0=1.10) I — (c:I:E;7pS4 29, 0=1.12)

e Residual*5
= Trace

Y=3684 (dx=-1.1e-01, do=3.3e-02)

T pfsArm
| ™ (x=3785.88,0=112)

calExp

(x=3785.77, 0=1.15)
e Residual*s
= Trace

3770 3780 3790

3770 3780 3790

3800 3770 3780 3790 3800

Y=982 (dx=-2.0e-01, do=4.7e-02)

pfsArm
T | ™ (x=3784.55,0=113)

1 calExp
= (x=3784.35, 0=1.18)

e Residual*5
== Trace

Y=1965 (dx=-3.7e-02, do=3.2e-02)

pfsArm
| ™ x=3781.87,0=112)
calExp
= (x=3781.84, 0=1.15)
e Residual*5
= Trace

1

Y=2947 (dx=-1.6e-02, do=-1.6e-02)
I pfsArm
| = (x=3782.48,0=1.11)
1 calExp

(x=3782.46, 0=1.10)
e Residual*5
== Trace

Y=3930 (dx=-9.1e-02, do=4.6e-02)

pfsArm
| = (x=3787.85,0=1.12)

calExp

(x=3787.76, 0=1.16)
e Residual*5
== Trace

3780 3790 3800
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Y=245 (dx=-4.1e-01, do=9.8e-02)

f=57, X=3678.8

Y=491 (dx=-2.4e-01, do=9.7e-02)

pfsArm
= (x=3683.60, 0=1.14)

calExp
= (x=3683.19, 0=1.24)

e Residual*s
= Trace

pfsArm
| ™ (x=3681.66,0=1.14)

1 calExp
= (x=3681.42, 0=1.24)

e Residual*5
== Trace

Y=736 (dx=-1.5e-01, do=6.1e-02)

Y=982 (dx=-8.1e-02, do=2.4e-02)

Y=1228 (dx=-9.8e-02, do=4.0e-02)

Y=1473 (dx=-5.3e-02, do=2.0e-02)

pfsArm pfsArm
1 = (x=3680.16, 0=1.14) | = x=3678.94,0=1.15)
1 calExp 1 calExp
= (x=3680.01, 0=1.20) = (x=3678.86, 0=1.17)

= Residual*5
== Trace

e Residual*5

e Residual*5
= Trace

T fsArm T pfsArm
1 = (x=3678.06, 0=1.13) 1 = (x=3677.33, 0=1.13)
1 calExp 1 calExp

= (x=3677.96, 0=1.17) = (x=3677.28, 0=1.15)

e Residual*5
= Trace

Y=1719 (dx=-1.0e-02, do=3.7e-02)

Y=2210 (dx=-1.1e-02, do=4.1e-02)

Y=2456 (dx=8.5e-03, do=1.8e-02)

I pfsArm
| ™ (x=3676.78,0=1.13)
1 calExp

= (x=3676.77, 0=1.16)

e Residual*5
= Trace

Y=1965 (dx=1.8e-03, do=3.5e-02)

e Residual*5
w— Trace

I pfsArm I pfsArm
1 = (x=3676.22, 0=1.12) 1 = (x=3676.20, 0=1.12)
1 calExp 1 calExp

" (x=3676.21, 0=1.16) = (x=3676.20, 0=1.14)

e Residual*5
= Trace

Y=2702 (dx=2.1e-02, do=2.7e-02)

pfsArm
| ™ (x=3676.41,0=1.13)

1 calExp
= (x=3676.41, 0=1.16)

e Residual*5

== Trace

I pfsArm
1 m—(x=3676.37, 0=1.12)
1 calExp

m— (x=3676.39, 0=1.15)

e Residual*s
== Trace

Y=2947 (dx=4.0e-02, do=-4.0e-04)

e Residual*5
| Trace

1
Y=3193 (dx=-3.7e-03, do=-1.0e-02) Y=3439 (dx=-2.4e-02, do=1.7e-03)
pfsArm T pfsArm
| = (x=3677.45,0=1.12) | = (x=3678.41,0=112)
I r— (CEI:E;(?77.45, o0=1.11) I — (c:I:E;g7B 38, 0=1.12)

e Residual*5
= Trace

Y=3684 (dx=-1.8e-02, do=2.3e-02)

I pfsArm
| = (x=3676.76,0=1.11)
1 calExp

— (x=3676.80, 0=1.11)

e Residual*5
== Trace

pfsArm
| = (x=3679.67, 0=1.11)

calExp
= (x=3679.65, 0=1.14)
= Residual*5
- Trace

3670 3680 3690

3670 3680 3690

Y=3930 (dx=1.3e-02, do=5.2e-02)

pfsArm
| ™ (x=3681.41,0=1.12)

calExp
= (x=3681.42, 0=1.18)
m—Residual*s
- Trace

3670 3680 3690

3670 3680 3690
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Y=245 (dx=-2.7e-01, do=-2.2e-02)

f=68, X=3610.8

Y=491 (dx=-2.2e-01, do=-1.6e-02)

pfsArm
| ™ (x=361532,0=118)

1 calExp
= (x=3615.05, 0=1.16)

— Residual*s

= Trace

= T pfsArm
| ™ (x=3613.48,0=121)

1 calExp
= (x=3613.26, 0=1.19)

e Residual*5
== Trace

Y=736 (dx=-1.4e-01, do=8.1e-03)

Y=1228 (dx=-8.0e-02, do=-2.5e-02)

Y=1473 (dx=-4.8e-02, do=-1.8e-02)

pfsArm
1 = (x=3612.10, 0=1.17)
1 calExp

= (x=3611.96, 0=1.18)
m— Residual*s
== Trace

Y=982 (dx=-1.3e-01, do=-4.6e-03)

fsArm
1 = (x=3610.08, 0=1.18)

calExp
= (x=3610.00, 0=1.15)
= Residual*5

i Trace

pfsArm
| ™ (x=3609.36,0=120)
calExp
= (x=3609.31, 0=1.18)
= Residual*5
= Trace

Y=1719 (dx=1.2e-02, do=1.3e-03)

T pfsArm
1 = (x=3610.98, 0=1.18)

1 calExp
= (x=3610.85, 0=1.17)

e Residual*5
== Trace

Y=2210 (dx=2.9e-02, do=3.3e-03)

Y=2456 (dx=3.6e-02, do=-1.3e-02)

T fsArm
1 = (x=3608.88, 0=1.16)
1 calExp

= (x=3608.89, 0=1.16)

e Residual*5
= Trace

Y=1965 (dx=-3.9e-02, do=2.5e-02)

pfsArm
| ™ x=360824, 0=1.19)

calExp
m—(x=3608.27, 0=1.19)

e Residual*5

pfsArm
7 1 = (x=3608.20, 0=1.18)
1 calExp
m—(x=3608.23, 0=1.17)
== Residual*5
= Trace

Y=2702 (dx=3.7e-02, do=-4.4e-03)

pfsArm
| ™ (x=3608.43, 0=121)

calExp
= (x=3608.39, 0=123)
e Residual*5

== Trace

Y=3193 (dx=3.1e-02, do=-4.6€-02)

Y=3439 (dx=-1.4e-02, do=-3.1e-02)

I pfsArm

1 = (x=3608.32, 0=1.19)

1 calExp
m—(x=3608.36, 0=1.18)

e Residual*s

pfsArm
| = (x=3609.28, 0=1.19)

calExp
= (x=3609.31, 0=1.14)

pfsArm
| ™ (x=3610.15 0=118)

calExp
= (x=3610.14, 0=1.15)
= Residual*5
- Trace

Y=3684 (dx=-3.8e-02, do=6.2¢-03)

1

Y=2947 (dx=1.9e-02, do=1.6e-02)
I pfsArm
| ™ (x=3608.60, 0=125)
I — (cj‘:E;E?OS.GL 0=127)

e Residual*5
== Trace

3600 3610 3620

3600 3610 3620

T pfsArm
| = (x=361129, 0=1.19)

calExp
= (x=3611.25, 0=1.20)

Y=3930 (dx=6.6e-02, do=4.1e-02)

pfsArm
= (x=3612.88, 0=1.15)

calExp

(x=3612.95, 0=1.19)
e Residual*5
== Trace

3600 3610 3620

3600 3610 3620
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Y=245 (dx=-2.0e-01, do=-2.2e-03)

f=69, X=3604.6

Y=491 (dx=-1.5e-01, do=3.6e-02)

T pfsArm

1 = (x=3609.15, 0=1.24)
calExp

= (x=3608.95, 0=1.24)

m— Residual*s

= Trace

pfsArm
| ™ (x=3607.32,0=123)

calExp
= (x=3607.17, 0=1.27)
wmm_ Residual*5
== Trace

Y=1228 (dx=-6.5e-02, do=9.6e-03)

Y=1473 (dx=-3.6e-02, do=2.5e-02)

=] == Residual*5

pfsArm I I pfsArm
= (x=3603.96, 0=1.21) 1 . 1 = (x=3603.23, 0=1.20)
calExp 1 1 calExp
= (x=3603.90, 0=1.22) = (x=3603.20, 0=1.22)
= Residual*5 = Residual*5
- Trace 1 - Trace
] |
|
1
T T T T T T 1
Y=2210 (dx=4.7e-02, do=9.6e-04) Y=2456 (dx=2.1e-02, do=1.6e-02)
T pfsArm I pfsArm
1 m—(x=3602.11, 0=1.17) a 1 m—(x=3602.07, 0=1.17)
1 calExp 1 calExp
= (x=3602.16, 0=1.17) = (x=3602.09, 0=1.19)

e Residual*5

mem Residual*s
= Trace

1
Y=3193 (dx=3.7e-02, do=-1.9e-02) Y=3439 (dx=-3.2e-02, do=-1.1e-02)
T pfsArm T pfsArm
| = (x=3603.14,0=1.17) i 1 = (x=3604.00, 0=1.16)
I r— (CEI:E:;(503.17, 0=1.15) — (c:I:E;gl]3 97, 0=1.15)

s Residual*5
= Trace

. Residual*s
= Trace

3590 3600 3610

3590 3600 3610

3620 3590 3600 3610

Y=736 (dx=-2.1e-01, do=4.2e-02)

pfsArm
1 = (x=3605.97, 0=124)

calExp
= (x=3605.76, 0=1.29)
m— Residual*s
== Trace

Y=982 (dx=-4.2e-02, do=1.2e-03)

Y=1719 (dx=3.1e-02, do=2.0e-02)

pfsArm
= (x=3604.66, 0=1.32) 1

calExp
= (x=3604.62, 0=1.32)

e Residual*5
== Trace

pfsArm
= (x=3602.61, 0=125) 1

calExp
— (x=3602.64, 0=1.27)

w— Trace

Y=1965 (dx=2.5e-02, do=3.8e-02)

Y=2702 (dx=3.2e-02, do=2.8e-04)

pfsArm
| ™ (x=3602.31,0=1.19)

1 calExp
= (x=3602.34, 0=122)

= Residual*5

== Trace

pfsArm

1 | ™ (x=3602.19, 0=1.18)

1 calExp
= (x=3602.22, 0=1.18)

e Residual*s

Y=2947 (dx=4.5-02, do=-5.0e-03)

Y=3684 (dx=-8.0e-03, do=-3.2e-03)

I pfsArm
| ™ (x=3602.50, 0=1.18)
1 calExp

—(x=3602.55, 0=1.17)
= Residual*5
- Trace

pfsArm T
_| = (x=3605.14, 0=1.16) 1
calExp |

= (x=3605.13, 0=1.16)

e Residual*5
= Trace

Y=3930 (dx=2.2e-02, do=9.0e-02)

pfsArm
| ™ (x=3606.62, 0=1.18)

calExp
= (x=3606.64, 0=127)
m— Residual*s
- Trace

3620 3590 3600 3610 3620
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Y=245 (dx=-3.7e-01, do=9.7e-03)

f=70, X=3598.4

Y=491 (dx=-2.3e-01, do=4.1e-02)

Y=736 (dx=-1.3e-01, do=4.6e-02)

Y=982 (dx=-1.2e-01, do=5.4e-02)

pfsArm
= (x=3603.00, 0=1.17)

calExp
= (x=3602.62, 0=1.18)
w— Residual*s
= Trace

pfsArm
(x=3601.19, 0=1.17)

calExp
= (x=3600.96, 0=1.21)
— Residual*s

w | Trace

pfsArm
= (x=3599.73, 0=1.15) 1

calExp
= (x=3599.59, 0=1.19)
wm— Residual*s
== Trace

pfsArm T
= (x=3598.61, 0=1.17) 1

calExp
= (x=3598.49, 0=1.22)

e Residual*5

| = Trace

Y=1228 (dx=-7.0e-02, do=3.9e-02)

Y=1473 (dx=-4.5e-02, do=3.7e-02)

Y=1719 (dx=3.8e-03, do=1.6e-02)

Y=1965 (dx=2.7e-02, do=2.5e-02)

= Residual*5
= Trace

pfsArm I pfsArm I
= (x=3597.73, 0=1.16) 1 = = (x=3597.10, 0=1.17) 1

calExp calExp 1
= (x=3597.66, 0=1.20)

= (x=3597.06, 0=1.21)
= Residual*5
= Trace

Y=2210 (dx=-2.5e-03, do=1.3e-02)

Y=2456 (dx=-4.8e-03, do=5.8e-02)

pfsArm I
= (x=3595.98, 0=1.17) 1
calEx

m— (x=3595.98, 0=1.18)
= Residual*5
= Trace

= Trace

pfsArm I
= (x=3595.85, 0=1.16) 1
calEx

m—(x=3595.84, 0=1.22)
= Residual*5

| = Trace

calExp

(x=3596.95, 0=1.13)
= Residual*5
w— | Trace

Y=3193 (dx=-3.8e-02, do=-3.7e-02) Y=3439 (dx=-3.2e-02, do=2.3e-02)
pfsArm T pfsArm T
m—(x=3506.99, 0=1.16) 1 m—(x=3597.75, 0=1.15) 1

calExp

(x=3597.72, 0=1.17)
e Residual*5
| Trace

e Residual*5

pfsArm
= (x=3596.53, 0=1.15) 1

calExp
— (x=3596.53, 0=1.17)
= Residual*5

== Trace

pfsArm T
= (x=3596.18, 0=1.16) 1

calExp 1
= (x=3596.21, 0=1.18)

e Residual*5
= Trace

1

Y=2702 (dx=1.1e-03, do=2.9e-03)
pfsArm I
= (x=3596.06, 0=1.16) 1
calExp 1

m— (x=3596.06, 0=1.16)
= Residual*5

1

Y=2947 (dx=4.3e-02, do=-3.3e-02)
pfsArm I
= (x=3596.36, 0=1.15) 1

calEx|
— (x=3596.40, 0=1.11)
e Residual*5
= Trace

Y=3684 (dx=-6.4e-02, do=-2.7e-03)

pfsArm
— (x=3598.97, 0=1.17)

calExp
= (x=3598.91, 0=1.17)

== Trace

3590 3600 3610

3590 3600 3610

pfsArm
= (x=3600.44, 0=1.14)

calExp
= (x=3600.45, 0=1.20)
= Residual*5
- Trace

3590 3600 3610

3590 3600 3610
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Y=245 (dx=-2.4e-01, do=1.4e-01)

f=142, X=3152.4

Y=491 (dx=4.0e-02, do=4.6e-02)

pfsArm
| ™ (x=3156.42, 0=1.11)

1 calExp
= (x=3156.18, 0=1.25)

e Residual*s
= Trace

T pfsArm
1 = (x=3155.25, 0=1.11)
1 calExp
= (x=3155.29, 0=1.16)
m— Residual*s
== Trace

Y=736 (dx=2.4e-02, do=2.9e-02)

pfsArm
1 = (x=3154.25, 0=1.11)
1 calExp

= (x=3154.27, 0=1.14)
m— Residual*s
== Trace

Y=982 (dx=7.0e-02, do=1.6e-02)

pfsArm
| ™ (x=3153.40,0=111)
1 calExp
= (x=3153.47, 0=1.13)
m—_Residual*5
== Trace

Y=1228 (dx=3.2e-02, do=8.1e-02)

Y=1473 (dx=2.4e-02, do=4.3e-02)

Y=1719 (dx=5.2e-02, do=-5.4e-03)

I pfsArm I pfsArm
| ™ (x=3152.68, 0=1.11) 1 = (x=3152.11, 0=1.10)
1 calExp calExp

= (x=3152.71, 0=1.19) = (x=3152.14, 0=1.15)

e Residual*5

e Residual*5

I fsArm
| ™ (x=3151.58,0=1.10)
1 calExp

= (x=3151.63, 0=1.09)

e Residual*5
= Trace

Y=1965 (dx=8.2e-02, do=5.2e-02)

- Trace I = Tace
|
|
1
l‘—m; 1
T
T T 1 T T 1 T
Y=2210 (dx=1.1e-01, do=3.8e-02) Y=2456 (dx=1.0e-01, do=4.0e-02)
T pfsArm pfsArm
| ™ (x=3150.83, 0=1.09) | = (x=3150.63 0=1.09)
I — ((:LE;IIJSO.QS, 0=1.13) | = ((:LE;fso 73, 0=1.13)

e Residual*5
w— Trace

e Residual*5
= Trace

Y=2702 (dx=6.0e-02, do=2.2e-02)

I pfsArm
1 = (x=3151.18, 0=1.10)
1 calExp

= (x=3151.26, 0=1.15)

e Residual*5
= Trace

F'-'E-'J

e -——

Y=3193 (dx=7.6e-02, do=1.5e-02)

Y=3439 (dx=4.4€-02, do=-9.6e-03)

pfsArm

1 m—(x=3150.54, 0=1.09)
1 calExp
m—(x=3150.60, 0=1.11)

e Residual*s
== Trace

Y=2947 (dx=8.5e-02, do=-3.6€-03)

pfsArm pfsArm
I = (x=315078, 0=1.09) 1 = (x=3151.14, 0=1.09)
| calExp | calExp
= (x=3150.85, 0=1.10) = (x=3151.19, 0=1.08)
= Residual*5 = Residual*5
- Trace ] - Trace
| |
| |
1 1
e ————— ]
-
LB
1 1

Y=3684 (dx=6.4€-02, do=-8.2e-03)

I pfsArm
| ™ (x=3150.59, 0=1.09)
1 calExp

= (x=3150.67, 0=1.08)

e Residual*5
== Trace

T pfsArm
| = (x=3151.64, 0=1.09)

| calExp

= (x=3151.70, 0=1.08)
e Residual*s

= Trace

3140 3150 3160

3140 3150 3160

Y=3930 (dx=7.6e-03, do=9.5e-03)

3140 3150 3160

pfsArm
| ™ (x=3152.39, 0=1.08)

calExp
= (x=3152.40, 0=1.09)
m—Residual*s
- Trace

3140 3150 3160
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Y=245 (dx=-5.9e-02, do=-1.2e-03)

f=161, X=3035.1

Y=491 (dx=-8.2e-02, do=6.0e-02)

Y=736 (dx=1.2e-03, do=-3.5e-02)

pfsArm
= (x=3039.04, 0=1.12)
calExp
= (x=3038.98, 0=1.12)
e Residual*s
= Trace

T pfsArm
| ™ (x=3037.93, 0=113)

1 calExp
= (x=3037.85, 0=1.19)

e Residual*5

== Trace

Y=1228 (dx=5.8e-02, do=-6.4e-03)

Y=1473 (dx=2.5e-02, do=5.4e-03)

T fsArm pfsArm
| = (x=3035.55,0=112) | = (x=3034.94,0=1.13)
1 calExp 1 calExp

= (x=3035.60, 0=1.11) = (x=3034.96, 0=1.13)

e Residual*5
= Trace

e Residual*5
= Trace

Y=2210 (dx=7.8e-02, do=4.1e-03)

Y=2456 (dx=9.7e-02, do=3.4e-02)

I pfsArm

pfsArm

I = (x=3033.67,0=112) | ™ (x=3033.43,0=1.11)
1 calExp calExp

— (x=3033.53, 0=1.14)

m—(x=3033.75, 0=1.12)
= Residual*5
- Trace

e Residual*5
= Trace

T pfsArm
1 = (x=3037.05, 0=1.12)

1 calExp
= (x=3037.05, 0=1.09)

= Residual*5
== Trace

Y=1719 (dx=7.4e-02, do=7.5e-03)

pfsArm
| ™ (x=3034.46, 0=1.11)

calExp
= (x=3034.53, 0=1.12)
= Residual*5

== Trace

Y=2702 (dx=8.4e-02, do=1.0e-02)

pfsArm
| ™ (x=3033.30,0=1.10)

1 calExp
m—(x=3033.38, 0=1.11)

e Residual*s

- == Trace

Y=982 (dx=-1.0e-02, do=5.4e-03)

T pfsArm
1 = (x=3036.24, 0=1.12)

1 calExp
= (x=3036.23, 0=1.13)

e Residual*5

-1 == Trace

Y=1965 (dx=1.1e-01, do=1.9e-03)

I pfsArm
1 = (x=3034.05, 0=1.11)
1 calExp

= (x=3034.15, 0=1.12)

- e Residual*5
= Trace

Y=2947 (dx=1.1e-01, do=-2.9e-02)

pfsArm
1 m—(x=3033.28, 0=1.10)
1 calExp
= (x=3033.39, 0=1.07)
e Residual*5
- Trace

Y=3193 (dx=9.2e-02, do=-3.2e-02)

Y=3439 (dx=7.1e-02, do=2.0e-02)

pfsArm
| ™ x=3033.38 0=110)

calExp
= (x=3033.48, 0=1.06)
= Residual*5
= Trace

pfsArm
| ™ (x=3033.61,0=1.11)

| calExp

(x=3033.68, 0=1.13)
e Residual*5
= Trace

Y=3684 (dx=4.9e-02, do=-2.0e-02)

T pfsArm
1 = (x=3034.02, 0=1.10)
| calExp

= (x=3034.07, 0=1.08)

e Residual*s
= Trace

3020 3030 3040

3020 3030 3040

3020 3030 3040 3050

Y=3930 (dx=7.1e-02, do=-4.6e-03)

T pfsArm
| ™ (x=3034.58,0=1.11)
| calExp

= (x=3034.65, 0=1.10)

e Residual*5
== Trace

3020 3030 3040 3050
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Y=245 (dx=-6.5e-02, do=8.7e-02)

f=198, X=2806.4

Y=491 (dx=-1.8e-02, do=4.8e-02)

Y=736 (dx=-2.5e-02, do=2.4e-02)

pfsArm
| ™ (x=281033,0=1.11)

1 calExp
= (x=2810.26, 0=1.20)

e Residual*s

pfsArm
1 | ™ (x=2809.43, 0=1.12)

1 calExp
= (x=2809.41, 0=1.17)

e Residual*5

Y=1228 (dx=2.9e-02, do=1.7e-02)

Y=1473 (dx=9.7e-02, do=1.5e-02)

e Residual*5

T fsArm . T pfsArm
1 = (x=2807.25, 0=1.12) I = (x=2806.64, 0=1.14)
1 calExp calExp

= (x=2807.28, 0=1.14) = (x=2806.74, 0=1.16)

e Residual*5
= Trace

Y=2210 (dx=9.3e-02, do=2.4e-02)

Y=2456 (dx=1.0e-01, do=2.0e-02)

e Residual*5
w— Trace

pfsArm I pfsArm
| =™ (x=2805.32,0=1.11) 1 == (x=2805.02, 0=1.09)
1 calExp 1 calExp
m—(x=2805.41, 0=1.14) m—(x=2805.12, 0=1.12)

e Residual*5
= Trace

T
1

Y=3193 (dx=7.9e-02, do=-1.5€-02)

Y=3439 (dx=1.1e-01, do=-3.6e-02)

pfsArm
| ™ (x=2804.53,0=111)

calExp
= (x=2804.61, 0=1.10)
= Residual*5
= Trace

T pfsArm
| = (x=2804.58, 0=1.11)

calExp
= (x=2804.68, 0=1.07)

- e Residual*5

== Trace

2790 2800 2810 2820

2790 2800 2810 2820

pfsArm
| ™ (x=2808.60, 0=1.13)
1 calExp

= (x=2808.57, 0=1.16)
m— Residual*s
== Trace

Y=982 (dx=4.2e-02, do=2.9e-02)

T pfsArm
| ™ (x=2807.82,0=1.17)

1 calExp
= (x=2807.86, 0=1.20)

e Residual*5
== Trace

1
Y=1719 (dx=6.1e-02, do=9.5€-03)
n T
1 = F:s:Art;rn‘)e.m, 0=1.11)
| — (cffzxapoe‘za, 0=1.12)

e Residual*5
= Trace

Y=1965 (dx=5.5e-02, do=5.3e-02)

Y=2702 (dx=9.3e-02, do=2.5e-02)

pfsArm
| ™ (x=2805.68, 0=1.13)

1 calExp
= (x=2805.73, 0=1.19)

e Residual*5

== Trace

I pfsArm
| = (x=280471,0=1.13)

calExp
= (x=2804.80, 0=1.16)

e Residual*s

- == Trace

Y=2947 (dx=8.7e-02, do=1.7e-02)

pfsArm
| = (x=2804.58,0=1.11)

1 calExp
= (x=2804.66, 0=1.13)
e Residual*5
== Trace

1

Y=3684 (dx=5.0e-02, do=-1.9e-03)
T pfsArm
| = (x=2804.71,0=1.12)
1 — (CEI:EZXSDMJE, 0=1.12)

- e Residual*s

Y=3930 (dx=6.2e-02, do=-1.5e-02)

2790 2800 2810

pfsArm
1 = (x=2805.08, 0=1.10)

calExp
= (x=2805.14, 0=1.08)
m—Residual*s
- Trace

2820 2790 2800 2810 2820



f=205, X=2763.3
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Y=245 (dx=-2.0e-01, do=1.8e-01)

f=205, X=2763.3

Y=491 (dx=-2.6e-02, do=-1.2e-02)

pfsArm
1 = (x=2767.17, 0=1.17)

calExp
= (x=2766.97, 0=1.35)

e Residual*s
= Trace

pfsArm
| ™ (x=2766.30, 0=117)

1 calExp
= (x=2766.27, 0=1.16)

e Residual*5

Y=736 (dx=7.2e-02, do=9.6e-03)

Y=982 (dx=-1.1e-02, do=4.0e-02)

Y=1228 (dx=3.0e-02, do=-1.7e-02)

Y=1473 (dx=6.1e-02, do=3.1e-02)

T pfsArm
| ™ (x=2765.47,0=1.19)
1 calExp

= (x=2765.54, 0=1.20)
m—Residual*5
== Trace

T pfsArm
| = (x=2764.67, 0=127)

1 calExp
= (x=2764.66, 0=1.31)

e Residual*5

_il i -

pfsArm
1 = (x=2764.16, 0=1.17)

calExp
— (x=2764.19, 0=1.15)
= Residual*5

pfsArm
| ™ (x=276352,0=120)
calExp
= (x=2763.59, 0=1.23)
= Residual*5
= Trace

Y=1719 (dx=7.3e-02, do=-2.1e-02)

1
Y=1965 (dx=1.7e-02, do=4.8e-02)

Y=2210 (dx=5.3e-02, do=-8.2e-03)

Y=2456 (dx=5.5e-03, do=1.1e-01)

pfsArm

1 = (x=2763.09, 0=1.15)
calExp

= (x=2763.16, 0=1.13)

= Residual*5

= Trace

pfsArm
| ™ (x=2762.56,0=1.18)
calExp
= (x=2762.58, 0=1.23)
e Residual*5
= Trace

pfsArm I pfsArm
1 = (x=2762.21, 0=1.15) | ™ x=2761.72, 0=1.30)
1 calExp 1 calExp
—(x=2761.72, 0=1.41)

—(x=2762.26, 0=1.14)
e Residual*5

e Residual*5
= Trace

Y=2702 (dx=5.6e-02, do=6.5e-02)

Y=3193 (dx=8.1e-02, do=-2.6-02)

Y=3439 (dx=2.7e-02, do=-3.6e-02)

I pfsArm
| ™ (x=2761.56,0=1.18)

calExp
m—(x=2761.61, 0=1.24)
e Residual*s

= Trace

1
Y=2947 (dx=9.5e-02, do=1.9e-02)
T
| ?:iér;nal.41,o=1 15)
calEx|

m—(x=2761.51, 0=1.17)
e Residual*5
== Trace

pfsArm
= (x=2761.35, 0=1.14)

calExp
= (x=2761.43, 0=1.11)
= Residual*5
= Trace

pfsArm
| = (x=2761.36, 0=1.14)

calExp

(x=2761.38, 0=1.11)
e Residual*5
= Trace

Y=3684 (dx=7.5e-02, do=6.0e-03)

Y=3930 (dx=4.4e-02, do=2.1e-02)

pfsArm
= (x=2761.45, 0=1.15)

calExp
= (x=2761.53, 0=1.15)
e Residual*s
= Trace

2750 2760 2770

2750 2760 2770

pfsArm
| = (x=2761.66, 0=1.20)

calExp

(x=2761.70, 0=1.22)
e Residual*5
== Trace

2750 2760 2770

2750 2760 2770




f=206, X=2757.1
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Y=245 (dx=5.5e-02, do=1.9e-01)

f=206, X=2757.1

Y=491 (dx=2.5e-02, do=1.2e-02)

pfsArm T i pfsArm T
= (x=2761.04, 0=1.15) 1 = (x=2760.18, 0=1.14) 1
calExp calExp 1
= (x=2761.09, 0=1.34) = (x=2760.20, 0=1.15)
— Residual*5 — Residual*5
7| = Trace w1 Trace

4 T

Y=1228 (dx=4.8e-02, do=-1.2e-02)

Y=1473 (dx=1.0e-01, do=-4.4e-02)

-1 pfsArm I pfsArm I
= (x=2758.04, 0=1.14) 1 = (x=2757.43, 0=1.12) 1
calExp 1 calExp 1

= (x=2758.09, 0=1.13) = (x=2757.54, 0=1.08)

= Residual*5
= Trace

= Residual*5
= Trace

= (x=2756.16, 0=1.10)

= Residual*5
| == Trace

1
Y=2210 (dx=7.9e-02, do=-1.3e-02) Y=2456 (dx=1.2e-01, do=-3.1e-02)
pfsArm I pfsArm I
m—(x=2756.08, 0=1.12) 1 | = (x=2755.70, 0=1.10) 1
calExp 1 calEx,

p
m—(x=2755.82, 0=1.07)
e Residual*5

w— Trace

Y=3193 (dx=9.0e-02, do=-1.8e-02)

Y=3439 (dx=5.4e-02, do=-1.6e-02)

pfsArm T T pfsArm T
= (x=2755.21, 0=1.10) 1 = (x=2755.22, 0=1.09) 1

calExp | calExp |
= (x=2755.30, 0=1.08) = (x=2755.27, 0=1.08)

= Residual*5
w— | Trace

e Residual*5
_| == Trace

2740 2750 2760 2770

2740 2750 2760 2770

Y=736 (dx=-2.7e-02, do=1.1e-02)

pfsArm T
= (x=2759.36, 0=1.14) 1
calExp 1

= (x=2759.34, 0=1.15)
m— Residual*s
== Trace

Y=1719 (dx=1.2e-01, do=-2.8e-02)

pfsArm I
= (x=2756.89, 0=1.11) 1

calExp 1
= (x=2757.02, 0=1.08)

e Residual*5
= Trace

Y=2702 (dx=1.1e-01, do=2.9e-03)

pfsArm T
_| = (x=2755.46, 0=1.09) 1
calExp 1

m—(x=2755.56, 0=1.10)
e Residual*5
= Trace

1
Y=3684 (dx=7.8e-02, do=-3.6e-03)

- pfsArm T
= (x=2755.32, 0=1.09) 1
calExp |

= (x=2755.40, 0=1.09)

e Residual*5
= Trace

2740 2750 2760 2770

Y=982 (dx=3.3e-02, do=-2.1e-02)

pfsArm T
= (x=2758.61, 0=1.14) 1
calExp 1

= (x=2758.65, 0=1.12)
| = Residual*s
== Trace

Y=1965 (dx=4.9e-02, do=1.3e-02)

pfsArm T
= (x=2756.46, 0=1.11) 1

calExp 1
= (x=2756.51, 0=1.12)

e Residual*5
= Trace

1
Y=2947 (dx=1.2e-01, do=-9.1e-03)
pfsArm I
= (x=275529, 0=1.09) 1
N — albxp 1
(x=2755.41, 0=1.08)

e Residual*5
= Trace

1
Y=3930 (dx=4.0e-02, do=-1.0e-02)

. pfsArm T
—(x=2755.55, 0=1.09) 1
calExp |

= (x=2755.59, 0=1.08)

e Residual*5
= Trace

2740 2750 2760 2770



f=216, X=2695.5
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Y=245 (dx=2.3e-02, do=3.8e-02)

f=216, X=2695.5

Y=491 (dx=1.6e-02, do=1.6e-02)

Y=736 (dx=6.4e-02, do=2.0e-02)

Y=982 (dx=3.2e-02, do=6.5e-03)

pfsArm
| ™ (x=2699.33,0=1.10)

1 calExp
= (x=2699.35, 0=1.13)

e Residual*s
= Trace

T pfsArm
| ™ (x=2698.51,0=1.10)

calExp
= (x=2698.53, 0=1.11)

e Residual*5
l w Trace

T pfsArm
| ™ (x=2697.73, 0=1.10)

1 calExp
- (x=2697.79, 0=1.12)

= Residual*5
== Trace

T pfsArm
1 = (x=2697.06, 0=1.10)

1 calExp
= (x=2697.09, 0=1.10)

e Residual*5
== Trace

Y=1228 (dx=3.5e-02, do=2.4e-02)

Y=1473 (dx=7.3e-02, do=1.7e-02)

Y=1719 (dx=9.7e-02, do=-1.4e-02)

Y=1965 (dx=1.0e-01, do=-1.2e-02)

pfsArm I pfsArm
1 = (x=2696.42, 0=1.10) | = (x=2695.82,0=1.10)
1 calExp 1 calExp
— (x=2696.45, 0=1.12) = (x=2695.90, 0=1.12)

e Residual*5
= Trace

e Residual*5
= Trace

pfsArm
| ™ (x=269534,0=1.09)
calExp
= (x=2695.44, 0=1.08)
= Residual*5
= Trace

I fsArm
| ™ (x=2694.84, 0=1.09)
1 calExp

= (x=2694.95, 0=1.08)

e Residual*5
= Trace

Y=2210 (dx=9.3e-02, do=9.8e-03)

Y=2456 (dx=9.2e-02, do=1.0e-02)

Y=2702 (dx=9.2e-02, do=7.1e-03)

Y=2947 (dx=1.1e-01, d0=9.8e-04)

I pfsArm I pfsArm
| ™ (x=2694.45,0=1.08) 1 = (x=2694.10, 0=1.08)
1 calExp 1 calExp

== (x=2694.54, 0=1.09) = (x=2694.19, 0=1.09)

e Residual*5
w— Trace

e Residual*5
= Trace

I pfsArm
| ™ x=2693.78,0=1.08)
1 calExp

= (x=2693.87, 0=1.09)

e Residual*s
== Trace

pfsArm
| = (x=2693.58,0=1.07)

calExp
= (x=2693.69, 0=1.08)
e Residual*5

- Trace

Y=3193 (dx=8.0e-02, do=-9.5e-03)

Y=3439 (dx=6.7e-02, do=4.6e-03)

Y=3684 (dx=8.2e-02, do=-2.9e-02)

Y=3930 (dx=9.2e-02, do=-8.8e-03)

pfsArm
| ™ (x=2693.46, 0=1.07)

calExp
= (x=2693.54, 0=1.06)
= Residual*5
= Trace

pfsArm
| = (x=2693.42, 0=1.07)

| calExp

= (x=2693.49, 0=1.08)
= Residual*5
- Trace

pfsArm
| ™ (x=2693.46,0=1.07)

| calExp

= (x=2693.55, 0=1.04)
= Residual*5
- Trace

T pfsArm
I ™ (x=2693.63,0=1.07)

| calExp

(x=2693.72, 0=1.06)
e Residual*5
== Trace

2680 2690 2700

2680 2690 2700

2680 2690 2700
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f=231, X=2602.8
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Y=245 (dx=1.7e-01, do=1.5e-01)

f=231, X=2602.8

Y=491 (dx=-3.3e-02, do=2.3e-02)

pfsArm
= (x=2606.61, 0=1.19)

calExp
= (x=2606.79, 0=1.34)

w—Residual*s
w1 Trace

pfsArm
1 = (x=2605.96, 0=1.14)

calExp
= (x=2605.93, 0=1.17)
e Residual*5
== Trace

Y=736 (dx=6.2e-02, do=5.7e-02)

Y=1228 (dx=2.1e-02, do=2.1e-02)

Y=1473 (dx=7.0e-02, do=7.4e-03)

pfsArm
1 = (x=260521, 0=1.15)
1 calExp

= (x=2605.27, 0=1.20)
= Residual*5
== Trace

Y=982 (dx=6.7e-02, do=-9.9e-03)

1
Y=1719 (dx=5.3e-02, do=7.3e-02)

pfsArm
| ™ (x=2604.47, 0=1.18)

calExp
= (x=2604.54, 0=1.17)
m— Residual*5

== Trace

T fsArm
| = (x=2603.74, 0=1.32)

1 calExp
= (x=2603.76, 0=1.34)

= Residual*5

= Trace

pfsArm
| ™ (x=2603.33 0=115)

calExp
= (x=2603.40, 0=1.16)
= Residual*5

= Trace

pfsArm
| ™ (x=260271,0=125)
1 calExp
= (x=2602.77, 0=1.33)
= Residual*5
= Trace
— o

Y=1965 (dx=6.6e-02, do=2.6e-02)

1

Y=2210 (dx=2.7e-02, do=7.4e-02) Y=2456 (dx=9.2e-02, do=3.3e-02)
I pfsArm I pfsArm
| = (x=2601.77,0=129) | ™ (x=2601.49, 0=1.15)
I poee — ((:I=E2x6pﬂl 58, 0=1.19)

m—(x=2601.79, 0=1.36)
e Residual*5
w— Trace

e Residual*5
= Trace

Y=2702 (dx=9.0e-02, do=-6.9e-03)

pfsArm
| ™ (x=2602.34,0=1.13)

calExp
= (x=2602.40, 0=1.16)
e Residual*5

== Trace

pfsArm
1 = (x=2601.20, 0=1.12)

calExp
m—(x=260129, 0=1.11)
e Residual*s

= Trace

Y=2947 (dx=9.6e-02, do=9.2e-03)

Y=3193 (dx=5.3e-02, do=2.5e-02) Y=3439 (dx=8.6e-02, do=-2.4e-03)
T pfsArm T pfsArm
I = (x=2600.67, 0=1.21) | ™ (x=2600.59, 0=1.16)
I r— (CEI:EZXSOOJZ, 0=1.23) I — (c:I:EZXG’;OO 68, 0=1.16)

e Residual*5
| Trace

e Residual*5
= Trace

Y=3684 (dx=7.3e-02, do=2.9e-02)

I pfsArm
1 = (x=2600.96, 0=1.11)
calEx

m—(x=2601.06, 0=1.11)
e Residual*5
== Trace

pfsArm
I ™ (x=2600.56, 0=1.16)

| calExp
= (x=2600.63, 0=1.19)
e Residual*s
= Trace
— ! =

2590 2600 2610

2590 2600 2610

Y=3930 (dx=1.6e-01, do=7.7e-03)

2590 2600 2610

pfsArm
| ™ (x=2600.60, 0=1.18)

calExp

(x=2600.76, 0=1.19)
e Residual*5
== Trace

2590 2600 2610




f=232, X=2596.7
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Y=245 (dx=4.3e-01, do=-7.0e-01)

f=232, X=2596.7

Y=491 (dx=4.4e-02, do=1.3e-02)

== (x=2600.88, 0=0.53)
— Residual*s
= Trace

T pfsArm pfsArm T
| ™ (x=2600.45, 0=123) = (x=2599.70, 0=122) 1
calExp calExp 1

= (x=2599.74, 0=1.24)
— Residual*s
w | Trace

Y=1228 (dx=3.5e-02, do=7.5e-03)

Y=1473 (dx=1.1e-01, do=-2.9e-02)

pfsArm
= (x=2597.68, 0=121) 1
calExp
= (x=2597.72, 0=121)
= Residual*5
= Trace

| == Trace

pfsArm
= (x=2597.21, 0=1.15) 1

calExp 1
— (x=2597.32, 0=1.12)

= Residual*5

Y=2210 (dx=7.8e-02, do=9.3e-03)

Y=2456 (dx=1.2e-01, do=-8.6e-03)

_ pfsArm I -1 pfsArm I
= (x=2595.70, 0=1.17) 1 = (x=2595.37, 0=1.12) 1
calExp 1 calExp 1

m— (x=2595.78, 0=1.18) m—(x=2595.49, 0=1.12)

= === Residual*5
w— Trace

= Trace

e Residual*5

= Residual*5
w— | Trace

= === Residual*5

Y=3193 (dx=7.5e-02, do=1.8e-03) Y=3439 (dx=4.2e-02, do=2.2e-02)
pfsArm T i pfsArm T
= = (x=2594.58, 0=1.12) 1 = (x=2594.47, 0=1.12) 1
e calExp | e calExp |
(x=2594.65, 0=1.12) (x=2594.51, 0=1.14)

= Trace

2580 2590 2600 2610

2580 2590 2600 2610

Y=736 (dx=6.9e-02, do=-4.1e-02)

pfsArm
o = (x=2599.07, 0=1.18) 1

calExp
= (x=2599.14, 0=1.14)
m— Residual*s

== Trace

Y=1719 (dx=7.6e-02, do=1.8e-02)

pfsArm
= (x=2596.62, 0=1.18) 1

calExp
— (x=2596.70, 0=1.20)
= Residual*5

== Trace

Y=2702 (dx=1.0e-01, do=-2.4e-02)

pfsArm I
T = (x=2595.07, 0=1.11) 1
calExp 1
= (x=2595.17, 0=1.09)
e Residual*5
= Trace

] T
1

Y=3684 (dx=9.3e-02, do=-3.3e-02)

pfsArm
= (x=2504.43, 0=1.11) 1

calExp

(x=2594.52, 0=1.08)
| == Residual*5
w— Trace

2580 2590 2600 2610

Y=982 (dx=2.0e-02, do=-2.3e-02)

pfsArm T
= (x=2598.35, 0=1.17) 1
calExp 1

= (x=2598.37, 0=1.15)
m— Residual*s
== Trace

Y=1965 (dx=9.8e-02, do=1.6e-02)

pfsArm T

= (x=2596.21, 0=1.14) 1

N calExp 1
= (x=2596.31, 0=1.15)

e Residual*5
= Trace

Y=2947 (dx=6.5e-02, do=2.8e-02)

_ pfsArm I
= (x=2594.74, 0=1.14) 1
calExp 1

m—(x=2594.81, 0=1.16)
e Residual*5
= Trace

1

Y=3930 (dx=7.6e-02, do=-3.5e-02)
pfsArm T
= (x=2594.48, 0=1.11) 1

calExp
= (x=2594.56, 0=1.08)

e Residual*5 F
1

2580 2590 2600 2610
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Y=245 (dx=-4.4e-02, do=2.9e-02)

f=239, X=2553.5

Y=491 (dx=2.3e-02, do=-2.5e-02)

Y=736 (dx=1.2e-03, do=1.1e-02)

Y=982 (dx=6.5e-02, do=1.2e-02)

pfsArm
| ™ (x=2557.39,0=1.10)

I calExp
= (x=2557.34, 0=1.13)

e Residual*s

T pfsArm
| ™ (x=2556.66, 0=1.12)

1 calExp
— (x=2556.68, 0=1.10)

e Residual*5
== Trace

pfsArm
1 = (x=2555.99, 0=1.11)
1 calExp

= (x=2555.99, 0=1.12)
m— Residual*s
== Trace

T pfsArm
| ™ (x=255530,0=111)

1 calExp
= (x=2555.36, 0=1.12)

e Residual*5
== Trace

Y=1965 (dx=7.9e-02, do=3.9e-02)

1
Y=1228 (dx=9.4e-02, do=-1.9e-02) Y=1473 (dx=5.2e-02, do=7.7e-03)
I pfsArm I pfsArm
| = (x=2554.66, 0=1.12) 1 = (x=2554.15, 0=1.10)

calExp
= (x=2554.76, 0=1.10)
= Residual*5

= Trace

1 calExp
= (x=2554.20, 0=1.11)
= Residual*5

1
Y=1719 (dx=5.5e-02, do=2.9e-03)
T
| F:s:Arsrga.so, 0=1.10)
| = (cffzxspsz‘es, 0=1.11)

e Residual*5
= Trace

I pfsArm
1 = (x=2553.14, 0=1.08)
1 calExp

= (x=2553.22, 0=1.12)

e Residual*5
= Trace

Y=2947 (dx=1.0e-01, do=-2.7e-03)

1

Y=2210 (dx=6.7e-02, do=4.5e-03) Y=2456 (dx=9.9e-02, do=-2.0e-03)
I pfsArm pfsArm
| ™ (x=2552.66, 0=1.09) 1 = (x=2552.29, 0=1.08)
I r— (cfgspsz.u, 0=1.10) I r— ((:|=E2xspsz 39, 0=1.08)

e Residual*5
w— Trace

e Residual*5
= Trace

1

Y=2702 (dx=8.5e-02, do=2.8e-02)
T
1 —(p:i/;rsgl.s9,o=1.1lj
I —(c:fzxspn.ee,g:l.u)

e Residual*s
== Trace

I pfsArm
| ™ (x=2551.63,0=1.08)

calExp
= (x=2551.74, 0=1.08)
e Residual*5

== Trace

Y=3193 (dx=1.0e-01, do=5.7e-03)

Y=3439 (dx=4.1e-02, do=-9.1e-03)

Y=3684 (dx=6.2e-02, do=4.5e-03)

Y=3930 (dx=4.7e-02, do=2.9e-02)

pfsArm
| = (x=2551.44, 0=1.07)

| calExp

(x=2551.54, 0=1.08)
e Residual*5
| Trace

T pfsArm
| = (x=255129,0=1.07)

calExp

(x=2551.33, 0=1.06)
e Residual*5
= Trace

pfsArm
1 = (x=255121, 0=1.07)

| calExp

= (x=2551.27, 0=1.08)
e Residual*s

= Trace

T pfsArm
1 = (x=2551.22, 0=1.07)
| calExp

= (x=2551.27, 0=1.10)

e Residual*5
== Trace

2540 2550 2560

2540 2550 2560

2540 2550 2560

2540 2550 2560
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Y=245 (dx=2.0e-01, do=7.4e-02)

f=473, X=1186.5

Y=491 (dx=-1.2e-03, do=1.3e-02)

pfsArm

1 = (x=1186.23, 0=1.09)
calExp

= (x=1186.43, 0=1.16)

s Residual*s

= Trace

T pfsArm
| ™ x=1186.78, 0=1.09)
- 1 calExp

= (x=1186.77, 0=1.10)

e Residual*5
== Trace

Y=1228 (dx=-8.6e-03, do=1.8e-02)

Y=1473 (dx=-6.2e-02, do=-9.4e-03)

I fsArm T pfsArm
1 = (x=1187.55, 0=1.09) | ™ (x=1187.63,0=1.09)
1 calExp 1 calExp

= (x=1187.54, 0=1.11) = (x=1187.56, 0=1.08)

e Residual*5
= Trace

e Residual*5
= Trace

1

Y=2210 (dx=-5.4e-02, do=3.9e-02) Y=2456 (dx=-3.6e-02, do=3.5e-03)
I pfsArm pfsArm
1 m—(x=1187.47, 0=1.08) = (x=1187.28, 0=1.08)
1 calExp calEx

—(x=1187.42, 0=1.12)
e Residual*5
w— Trace

P
— (x=1187.24, 0=1.09)
e Residual*5
= Trace

Y=3193 (dx=-2.6e-02, do=7.3e-03) Y=3439 (dx=-1.4e-02, do=-6.2e-03)
T pfsArm pfsArm
1 = (x=1186.14, 0=1.08) | ™ (x=1185.53,0=1.08)

calExp

(x=1186.11, 0=1.09)
e Residual*5
| Trace

calExp

(x=1185.51, 0=1.08)
e Residual*5
= Trace

1170

1180 1190 1200

1170 1180 1190

1200

Y=736 (dx=-7.4e-03, do=-6.7e-04)

pfsArm
1 = (x=1187.17, 0=1.08)
1 calExp

= (x=1187.16, 0=1.08)
m— Residual*s
== Trace

Y=982 (dx=-9.0e-03, do=-5.1e-03)

Y=1719 (dx=-8.7e-03, do=8.2e-04)

T pfsArm
| ™ (x=1187.40, 0=1.09)

1 calExp
= (x=1187.39, 0=1.08)

e Residual*5
== Trace

I pfsArm

1 | ™ x=1187.64,0=1.09)
1 calExp

= (x=1187.63, 0=1.09)

e Residual*5
= Trace

Y=1965 (dx=-4.1e-02, do=2.3e-02)

pfsArm
| ™ (x=1187.59, 0=1.09)

1 calExp
= (x=1187.55, 0=1.11)

e Residual*5

== Trace

1
Y=2702 (dx=-4.4e-02, do=1.8e-02)
I pfsArm
1 = (x=1187.00, 0=1.08)
. I r— (c:flxlpae.es, 0=1.10)

e Residual*s
== Trace

Y=2947 (dx=-5.2e-02, do=2.3e-02)

Y=3684 (dx=-5.5e-02, do=1.3e-02)

pfsArm
| ™ (x=1186.60, 0=1.08)

1 calExp
m—(x=1186.55, 0=1.11)
e Residual*5
== Trace

pfsArm
| = (x=1184.79, 0=1.09)

calExp
= (x=1184.73, 0=1.10)
= Residual*5
- Trace

Y=3930 (dx=-3.5e-02, do=2.7e-02)

T pfsArm
| ™ (x=1183.88, 0=1.09)

| calExp

= (x=1183.84, 0=1.11)
m—Residual*s

- Trace

1170 1180 1190

1200
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Y=245 (dx=2.2e-01, do=2.1e-01)

f=569, X=592.6

Y=491 (dx=1.3e-01, do=2.4e-02)

Y=736 (dx=6.2e-02, do=-9.3e-03)

== Trace

pfsArm pfsArm
== (x=591.72, 0=1.10) 1 = (x=592.95, 0=1.11)
calExp 1 calExp

= (x=591.93, 0=1.31)
w— Residual*s

= (x=593.08, 0=1.13)
e Residual*5
== Trace

Y=1228 (dx=3.9e-02, do=-2.5e-02) Y=1473 (dx=-5.9e-03, do=-8.7e-03)
I fsArm N I pfsArm
1 = (x=594.65, 0=1.10) 1 = (x=594.81, 0=1.10)
1 calExp 1 calExp

— (x=594.69, 0=1.07)
e Residual*5
== Trace

= (x=594.80, 0=1.09)
e Residual*5
== Trace

1 1

Y=2210 (dx=-4.6e-02, do=3.6e-02) Y=2456 (dx=-4.1e-02, do=2.7e-02)
I pfsArm I pfsArm
1 = (x=594.52, 0=1.10) 1 = (x=594.13, 0=1.09)
1 e (cf‘fsxgpa.u, 0=1.13) 1 e (C;‘:EJQPAI.OQ, 0=1.12)

e Residual*5
== Trace

e Residual*5

- == Trace

Y=3193 (dx=-4.2e-02, do=1.2e-02) Y=3439 (dx=8.1e-04, do=1.4e-02)
T pfsArm T pfsArm

1 = (x=591.86, 0=1.10) 1 = (x=590.70, 0=1.10)
| calExp | calExp

(x=591.82, 0=1.12) (x=590.70, 0=1.12)

= Residual*5
== Trace

e Residual*5
= Trace

T pfsArm
1 = (x=593.78, 0=1.10)
calExp
= (x=593.84, 0=1.09)

e Residual*s
= Trace

Y=1719 (dx=-2.2e-03, do=-2.2e-02)

pfsArm
1 = (x=594.84, 0=1.10)

1 calExp
— (x=594.84, 0=1.08)

= Residual*5

= Trace

N I pfsArm
1 = (x=594.75, 0=1.10)

1 calExp
= (x=594.71, 0=1.10)

1
Y=2702 (dx=-6.3e-02, do=6.4e-03)

pfsArm

1 = (x=593.55, 0=1.10)
1 calExp

m— (x=593.49, 0=1.10)

= Residual*5
w— Trace

- == Trace

Y=3684 (dx=-6.0e-02, do=4.3e-02)

— T pfsArm
1 = (x=589.26, 0=1.10)
| calExp
= (x=589.20, 0=1.14)
= Residual*5
] - Trace
1
] 1
1
I

— T pfsArm
1 = (x=587.43, 0=1.10)

| calExp
= (x=587.36, 0=1.16)

580 590 600

580 590 600

580 590 600

Y=982 (dx=3.9e-02, do=3.8e-02)
T

pfsArm
1 = (x=594.33, 0=1.09)

1 calExp
= (x=594.37, 0=1.13)

e Residual*5
== Trace

1
Y=1965 (dx=-3.7e-02, do=-1.3e-03)

e Residual*5
= Trace

Y=2947 (dx=-4.4e-02, do=-4.6e-05)
T

pfsArm
1 = (x=592.80, 0=1.10)
1 calExp

m—(x=592.76, 0=1.10)
e Residual*5

Y=3930 (dx=-7.0e-02, do=5.9e-02)

e Residual*5
= Trace

580 590 600
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Y=245 (dx=2.4e-01, do=8.9e-02)

f=574, X=561.8

Y=491 (dx=1.6e-01, do=-2.5e-03)

T pfsArm T pfsArm
1 = (x=560.86, 0=1.11) 1 = (x=562.19, 0=1.10)
calExp 1 calExp

= (x=561.10, 0=1.20)
w— Residual*5
== Trace

= (x=562.35, 0=1.10)
e Residual*s
w | Trace

Y=1228 (dx=4.1e-02, do=-1.9e-02)

Y=1473 (dx=-2.0e-02, do=6.5e-03)

I pfsArm I pfsArm
| = (x=563.90,0=1.13) 1 = (x=564.13, 0=1.10)
calExp 1 calExp

= (x=563.94, 0=1.11)
e Residual*5
== Trace

= (x=564.11, 0=1.11)
= Residual*5
= Trace

1 1

Y=2210 (dx=-3.5e-02, do=2.6e-02) Y=2456 (dx=-3.1e-02, do=1.8e-02)
I pfsArm I pfsArm
1 = (x=563.78, 0=1.12) 1 = (x=563.38, 0=1.10)
I r— (cf‘fsxgau, 0=1.15) I r— 1(>?I=E5xé)3.35, 0=1.12)

e Residual*5
== Trace

= Residual*5
w— Trace

Y=3193 (dx=-4.2e-02, do=1.1e-02) Y=3439 (dx=-1.9e-03, do=1.3e-02)
T pfsArm T pfsArm
1 = (x=561.09, 0=1.11) 1 — (x=559.84, 0=1.13)
1 = fffsxé’l 05, 0=1.12) 1 — ffLE;(:g.sA, 0=1.14)

e Residual*5
= Trace

e Residual*5
= Trace

550 560 570

Y=736 (dx=5.0e-02, do=-6.6e-03)

Y=982 (dx=6.0e-02, do=-8.8e-03)

T pfsArm
1 == (x=563.05, 0=1.10)

1 calExp
= (x=563.10, 0=1.09)

e Residual*s
= Trace

T pfsArm
1 = (x=563.57, 0=1.10)
1 calExp

= (x=563.63, 0=1.09)
m— Residual*5
== Trace

Y=1965 (dx=-4.1e-02, do=2.1e-03)

1

Y=1719 (dx=-2.5e-02, do=-1.6e-02)
T
1 = ?;i/;rgjt.1s, 0=1.10)
| - (Cxafsxepms, 0=1.08)

e Residual*5
= Trace

T pfsArm
1 = (x=564.06, 0=1.10)
1 calExp

= (x=564.02, 0=1.10)
= Residual*5
== Trace

1
Y=2702 (dx=-5.8e-02, do=6.0e-03)
T
1 1 = E?srgnz.m,oﬂ 12)
g Vs SR

= Residual*5
w— Trace

Y=3684 (dx=-3.8e-02, do=4.0e-02)

T pfsArm
1 = (x=558.37, 0=1.11)
| calExp

= (x=558.33, 0=1.15)

me Residual*5
w— Trace

1

Y=2947 (dx=-4.2€-02, d0=-9.9e-04)
T
1 = ?:iirersﬂz.oe, 0=1.11)
I r— ((:|=E5xgz.oz,a=1.11;

e Residual*5
== Trace

Y=3930 (dx=-9.2e-02, do=7.2e-02)

T pfsArm
1 = (x=556.48, 0=1.11)
| calExp

= (x=556.39, 0=1.18)

e Residual*5
= Trace

550 560 570

540 550 560 570
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Y=245 (dx=4.3e-01, do=1.1e-01)

f=583, X=506.1

Y=491 (dx=1.4e-01, do=4.1e-02)

= (x=505.45, 0=1.21)
m— Residual*5
== Trace

T pfsArm T pfsArm
1 = (x=505.03, 0=1.10) 1 = (x=506.41, 0=1.12)
calExp 1 calExp

= (x=506.55, 0=1.16)
— Residual*s

1
Y=1228 (dx=1.8e-02, do=-1.9e-03)

Y=1473 (dx=3.9e-03, do=-1.3e-03)

== Trace

I pfsArm I pfsArm
1 = (x=508.29, 0=1.11) 1 = (x=508.48, 0=1.12)
1 calExp 1 calExp
= (x=508.31, 0=1.11) = (x=508.48, 0=1.12)
e Residual*5 e Residual*5

i Trace

e Residual*5

1
Y=2210 (dx=-3.9e-02, do=1.5e-02) Y=2456 (dx=-4.1e-02, do=2.3e-02)
T
1 = F:Sgg?z 17, 0=1.11) | - r;igr<;n7.es, 0=1.16)
1  calixp 1 — calExp
(x=508.13, 0=1.12) (x=507.64, 0=1.18)
e Residual*5 w— Residual*5
== Trace = i Trace
- 1
I I
1 1
i
| N ]
T T T T I T T
Y=3193 (dx=-3.9e-02, do=3.0e-02) Y=3439 (dx=5.5e-03, do=1.3e-02)
T pfsArm T pfsArm
- 1 = (x=505.30, 0=1.12) 1 = (x=504.03, 0=1.11)
| calExp | e calExp
(x=505.26, 0=1.15) (x=504.04, 0=1.13)

= Residual*5
w— Trace

490 500 510 520

490 500 510 520

Y=736 (dx=7.4e-02, do=1.4e-02)

Y=982 (dx=5.5e-02, do=-1.0e-02)

T pfsArm
1 = (x=507.32, 0=1.12)

1 calExp
-1 = (x=507.39, 0=1.13)

e Residual*s
= Trace

Y=1719 (dx=-1.2e-02, do=-2.0e-02)

I pfsArm
1 = (x=508.51, 0=1.13)
1 calExp

= (x=508.50, 0=1.11)

e Residual*5

Y=2702 (dx=-7.2e-02, do=1.4e-02)

pfsArm
- 1 = (x=507.13, 0=1.11)
1 calExp

m—(x=507.06, 0=1.13)
= Residual*5

Y=3684 (dx=-4.4e-02, do=4.4e-02)

T pfsArm
1 = (x=502.41, 0=1.12)
| calExp

= (x=502.37, 0=1.17)

me Residual*5

490 500 510

T pfsArm
| ™ (x=507.81,0=120)

1 calExp
= (x=507.86, 0=1.19)

e Residual*5

Y=1965 (dx=-2.6e-02, do=9.1e-03)

T pfsArm
1 = (x=508.42, 0=1.12)
1 calExp

= (x=508.39, 0=1.13)
= Residual*5

Y=2947 (dx=-5.9e-02, do=-2.7e-03)

pfsArm

-1 1 m—(x=506.32, 0=1.12)
1 calExp

m—(x=506.26, 0=1.12)

e Residual*5

Y=3930 (dx=-4.3e-02, do=6.6e-02)

T pfsArm
1 = (x=500.41, 0=1.12)
| calExp

= (x=500.37, 0=1.19)

e Residual*5

490 500 510
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Y=245 (dx=3.8e-01, do=1.9e-01)

f=584, X=499.9

Y=491 (dx=2.1e-01, do=-5.8e-02)

pfsArm
= (x=498.80, 0=1.14)

calExp
= (x=499.18, 0=1.33)
w— Residual*s
w | Trace

pfsArm
= (x=500.22, 0=1.18) 1

calExp
= (x=500.42, 0=1.12)
e Residual*s
w | Trace

Y=1228 (dx=5.8e-02, do=-3.2¢-02)

pfsArm
= (x=502.14, 0=1.19)

calExp

= (x=502.19, 0=1.15)
= Residual*5

= Trace

pfsArm
= (x=502.30, 0=1.17)

calExp
= (x=502.30, 0=1.16)
e Residual*5

= Trace

Y=2210 (dx=-3.5e-02, do=1.9e-02) Y=2456 (dx=-1.4e-02, do=2.8e-03)
T T
= F:Sgor; 02, 0=1.17) 1 1= {J;iASr(;nl.54,a=1 15) 1
— calExp — calExp 1
(x=501.99, 0=1.19) (x=501.52, 0=1.15)

= Residual*5
w— Trace

e Residual*5
w— Trace

1
Y=3193 (dx=-1.6e-02, do=1.7e-02) Y=3439 (dx=1.1e-02, do=1.8e-03)
pfsArm . pfsArm T
— (x=499.13, 0=1.16) = (x=497.78, 0=1.15) 1
calEx|

calExp
— (x=499.11, 0=1.18)
= Residual*5
= Trace

]
— (x=497.79, 0=1.15)
= Residual*5

- Trace

490 500 510

490 500 510

Y=736 (dx=1.0e-01, do=-7.9e-02)

pfsArm
= (x=501.15, 0=1.18) 1

calExp
= (x=501.25, 0=1.10)

7| == Residual*s
== Trace

| == Trace

Y=1719 (dx=1.2e-02, do=-4.0e-02)

pfsArm
(x=502.35, 0=1.16)

calExp

= (x=502.36, 0=1.12)
= Residual*5

== Trace

| === Residual*5

Y=2702 (dx=-8.3e-02, do=3.2e-03)

pfsArm I
- = (x=500.89, 0=1.15) 1
calExp 1
=== (x=500.81, 0=1.16)
= Residual*5
- Trace
- - —

1

Y=2947 (dx=-7.2e-02, do=-3.5e-03)
T
P R E):iASr(;“U.15,U=1.16D 1

Y=982 (dx=6.4e-02, do=-2.4e-02)

pfsArm
= (x=50173, 0=1.13) 1

calExp
= (x=501.79, 0=1.10)

e Residual*5

Y=1965 (dx=-2.4e-02, do=-1.9e-02)

pfsArm
= (x=502.25, 0=1.16)

calExp
— (x=502.23, 0=1.14)

= Trace

calExp

= (x=500.08, 0=1.16)
= Residual*5

- Trace

pfsArm

= (x=496.22, 0=1.16)
calExp

= (x=496.20, 0=1.19)

e Residual*5
= Trace

7| == Trace

pfsArm
— (x=494.21, 0=1.16)

calExp
= (x=494.14, 0=121)

e Residual*5

480 490 500 510

480 490 500 510
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Y=245 (dx=5.1e-01, do=4.8e-02)

f=616, X=301.1

Y=491 (dx=1.8e-01, do=2.0e-02)

== Trace

pfsArm . T pfsArm
= (x=299.62, 0=1.10) 1 = (x=301.36, 0=1.09)
calExp 1 calExp
= (x=300.13, 0=1.14) = (x=301.54, 0=1.11)
m—_Residual*5 s Residual*s

= Trace

= (x=303.86, 0=1.07)
e Residual*5
== Trace

1
Y=1228 (dx=6.6e-02, do=-2.8e-02) Y=1473 (dx=-1.4e-02, do=-1.2e-02)
T
| F;sjar(g 79, 0=1.10) 1 — f’xfiAzré'Z.m, 0=1.09)
I e I - f:lfaxgma, 0=1.08)

e Residual*5
= Trace

e Residual*5
== Trace

Y=2210 (dx=3.8e-03, do=2.1e-02) Y=2456 (dx=-2.4e-02, do=1.1e-02)
I pfsArm I pfsArm

1 = (x=303.71, 0=1.10) i 1 = (x=303.23, 0=1.10)
1 o calexp 1 — calexp

(x=303.72, 0=1.12) (x=303.20, 0=1.11)

e Residual*5
= Trace

= Residual*5
== Trace

1 1
Y=3193 (dx=-5.3e-02, do=1.6e-02) Y=3439 (dx=1.4e-02, do=1.2e-02)
T pfsArm pfsArm
T 1 = (x=300.28, 0=1.10) T 1 = (x=298.68, 0=1.10)
| calExp | e calExp
(x=300.23, 0=1.12) (x=298.70, 0=1.12)

= Residual*5
w— Trace

290 300 310

Y=736 (dx=1.3e-01, do=2.9e-02)

T pfsArm
1 = (x=302.52, 0=1.09)
1 calExp

= (x=302.65, 0=1.12)
e Residual*s
== Trace

- T pfsArm
1 == (x=303.32, 0=1.09)
1 calExp

Y=1719 (dx=-1.0e-03, do=-1.5e-02)

pfsArm
1 == (x=304.16, 0=1.09)
1 calExp
= (x=304.16, 0=1.08)

e Residual*5
= Trace

1
Y=2702 (dx=-1.9e-02, do=4.7e-03)
T
7 1 = F:S:;OMZ.48,0=1.10)
1 — calExp
(x=302.46, 0=1.10)
= Residual*5
| | - Trace
T T 1 T
Y=3684 (dx=-2.3e-02, do=4.2e-02)
. T
1 = F;igrgr“s,7z, 0=1.11)
calExp
—(x=296.70, 0=1.15)
= Residual*5
_ - Trace
1

280 290 300 310

Y=982 (dx=8.5e-02, do=8.1e-03)

= (x=303.40, 0=1.10)
e Residual*5
== Trace

Y=1965 (dx=-1.2e-02, do=-2.1e-03)

pfsArm
1 === (x=304.05, 0=1.09)
1 calExp
= (x=304.04, 0=1.09)
= Residual*5
1 = Trace

|

Y=2947 (dx=-4.0e-02, do=-2.1e-03)

T pfsArm

- 1 = (x=301.51, 0=1.10)
1 calExp

= (x=301.47, 0=1.10)

e Residual*5

1

Y=3930 (dx=-5.9e-02, do=8.5e-02)
T

7] 1 e FxfiAzr;t,za, 0=1.10)

| calExp
- (x=29422, 0=1.19)

e Residual*5
= Trace

280 290 300 310
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Y=245 (dx=3.4e-01, do=8.0e-02)

f=631, X=207.8

Y=491 (dx=2.2e-01, do=-1.3e-02)

Y=736 (dx=1.0e-01, do=5.5e-02)

= (x=206.44, 0=1.19)
w— Residual*5
== Trace

1

1
T

1

= (x=208.16, 0=1.12)
— Residual*s

= Trace

Y=1228 (dx=4.0e-02, do=-1.6e-02)

Y=1473 (dx=4.0e-02, do=-2.4€-02)

T pfsArm T pfsArm T pfsArm
1 = (x=206.10, 0=1.11) I ™ (x=207.94,0=113) 1 = (x=209.28, 0=1.10)
calExp 1 calExp 1 calExp

= (x=209.38, 0=1.15)

e Residual*s

Y=1719 (dx=7.6e-03, do=-2.1e-03)

e Residual*5
= Trace

e Residual*5
= Trace

Y=2210 (dx=9.9e-03, do=6.7e-03)

Y=2456 (dx=-1.2e-02, do=1.6e-03)

- e Residual*5
= Trace

pfsArm pfsArm

1 = (x=210.68, 0=1.12) 1 = (x=210.16, 0=1.11)
1 calExp 1 calExp

m—(x=210.69, 0=1.12) m—(x=210.14, 0=1.11)

- = Trace

= Residual*5

e Residual*5
= Trace

1 |
Y=3193 (dx=-2.4e-02, do=3.9e-02) Y=3439 (dx=2.7e-02, do=2.1e-02)
T
| gi%%&o, 0=1.14) 1 e giAz%g‘za, 0=1.12)
| calExp | calExp
(x=206.88, 0=1.18) (x=205.26, 0=1.14)

e Residual*5

190 200 210 220

190 200 210 220

I fSArm - I pfsArm I pfsArm
1 = (x=210.70, 0=1.12) 1 = (x=211.05, 0=1.11) 1 = (x=211.14, 0=1.10)
calExp calExp 1 calExp
= (x=210.74, 0=1.10) = (x=211.09, 0=1.08) = (x=211.15, 0=1.10)

e Residual*5
= Trace

1

Y=2702 (dx=-3.0e-02, do=1.8e-02)
T
1 = ;):5=A2r0m9.36,0=1.11)
1 calExp

= (x=209.33, 0=1.13)
= Residual*5
| Trace

Y=3684 (dx=-1.7e-04, do=4.3e-02)

Y=982 (dx=1.2e-01, do=3.2e-02)

- T pfsArm
1 = (x=210.17, 0=1.10)
1 calExp

= (x=210.29, 0=1.13)
-1 e Residual*5
== Trace

Y=1965 (dx=-1.3e-02, do=3.9e-02)

T pfsArm
1 = (x=211.04, 0=1.11)
E 1 calExp

= (x=211.02, 0=1.14)
= Residual*5

1

Y=2947 (dx=-6.7e-02, do=2.8e-02)
T
1 = F:iAZr(;“S.31,U=1.1ZD
1 [ ((:Lszge.u, 0=1.14)

e Residual*5

Y=3930 (dx=-4.4e-02, do=9.0e-02)

- me Residual*5

= Trace

190 200 210

T pfsArm T pfsArm
1 = (x=203.08, 0=1.12) 1 = (x=200.38, 0=1.12)
| calExp | calExp

= (x=203.08, 0=1.16) = (x=200.33, 0=121)

e Residual*5

190 200 210
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Y=245 (dx=5.1e-01, do=-2.2e-01)

f=636, X=176.7

Y=491 (dx=5.7e-02, do=1.0e-01)

= (x=175.40, 0=0.88)
m— Residual*5

pfsArm pfsArm
= (x=174.89, 0=1.10) 1 = (x=176.85, 0=1.10)
calExp 1 calExp

= (x=176.91, 0=1.20)
e Residual*s
w | Trace

Y=1228 (dx=8.9e-02, do=-7.2e-03)

Y=1473 (dx=3.1e-02, do=3.4e-02)

e Residual*5
= Trace

T fsArm T pfsArm

- 1 = (x=179.70, 0=1.10) 1 = (x=180.07, 0=1.11)
1 calExp 1 calExp

= (x=179.79, 0=1.10) = (x=180.10, 0=1.14)

e Residual*5
= Trace

e Residual*5
= Trace

|
Y=2210 (dx=-4.7€-03, do=2.6e-02) Y=2456 (dx=-3.8e-02, do=1.2e-02)
I pfsArm I pfsArm
1 1 = (x=179.69, 0=1.10) 1 = (x=179.16, 0=1.11)
1 [ (C;‘:E{% 69, 0=1.13) 1 r— 1(>?I=E1x$9.12, 0=1.12)

= Residual*5
w— Trace

e Residual*5
= Trace

1 1

Y=3193 (dx=-2.5e-02, do=4.0e-02) Y=3439 (dx=4.6e-02, do=2.9e-02)
T

| gf{%sz, 0=1.11) 1 r— f’xfi'i'%g, 0=1.12)

] 1 = rjfﬁs 81, 0=1.15) 1 — TEI:EE%.M, 0=1.15)

= Residual*5
w— Trace

160 170 180 190

160 170 180 190

Y=736 (dx=6.0e-02, do=3.6e-02)

Y=982 (dx=1.1e-01, do=1.1e-02)

pfsArm
1 = (x=178.23, 0=1.10)
1 calExp

= (x=178.29, 0=1.13)
e Residual*s
= Trace

T pfsArm
1 = (x=179.15, 0=1.10)
1 calExp

- (x=179.26, 0=1.11)
e Residual*5
== Trace

Y=1719 (dx=1.8e-03, do=1.4e-02)

Y=1965 (dx=-2.3e-02, do=2.0e-02)

I pfsArm
1 == (x=180.16, 0=1.10)
1 calExp

= (x=180.16, 0=1.11)

e Residual*5
= Trace

T pfsArm
1 = (x=180.06, 0=1.11)
1 calExp

= (x=180.04, 0=1.12)
= Residual*5
== Trace

Y=2702 (dx=-2.2e-02, do=2.4e-02)

Y=2947 (dx=-3.8e-02, do=6.3e-03)

pfsArm
1 = (x=178.34, 0=1.11)
1 calExp

= (x=178.32, 0=1.13)
= Residual*5
| Trace

pfsArm
1 = (x=177.27, 0=1.11)
1 calExp

—(x=177.23, 0=1.12)
e Residual*5

Y=3684 (dx=-2.7e-02, do=5.1e-02)

Y=3930 (dx=-2.4e-02, do=1.1e-01)

pfsArm
| = (x=171.83,0=1.11)

| calExp
= (x=171.81, 0=1.16)

me Residual*5
w— Trace

T pfsArm
1 = (x=169.10, 0=1.12)
| calExp

= (x=169.08, 0=1.23)

e Residual*5
= Trace

160 170 180

160 170 180



